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detufciai ulvel
Nutrition In Plants  (cygl2ial ol clic22t)

- o1 AsHAi 2j 2Alvilg] ? (Learning Outcomes) N

a2yl wiMelAL Ustl (Mode of Nutrition in Plants)
uslRAsaAULL - aruaHl viiLs otriladidl ulsul

(Photosynthesis - Food Making Process in Plants)

o aA-ulaHl WINELHL Ay USIRL. (Other Modes of Nutrition in Plants)
° %@LH@Q‘@& (Saprotrophs)

o Il Winscrall 830 5l Ad U €9 ?

(How Nutrients are Replenished In The Soil)

(@i (vRicl-vidyY)all 2AGE) vial GrAREl

UL sunlight A2 anuld plant w2
sielfea carbohydrate 1ol 32 uel leaf dls
YEHEASUA microscope WY slsiu {9 organ 24190
Ald source 1A VRS food 53
zdANd synthesis EEOIRE flaid) insectivorous Swailsea
yu-Glod sun-energy U-GAD VML absorption oAU
usis stem EXT] 591 fungus s
wendl system [Ren ETO) algae el

M pore iR Ydluedl saprotroph AMI2LS
EIATEL] example W SAHUA u2si components SR
wy gas Ay 50 equation SECER
s Qo chemical energy  SMsa AR | s work as
uslAAANR  photosynthesis siciR-Alaa | sin cell A4

AR body o) U, B living (&laa

udfldl A1y 2 diRel

uglx-1 :
1) g A ?
o 6L AU5AVL 913, 519 vilvi, AR glal.
WRIE
o 6l VKA 913 @l
® 35 913e VIUSIRUL AAL SL0U VUL AL,
o oflon 913 yAUS12 (sunlight)Hi AviL.
® 72 5Al5 OlLE 6inl 19137 LR glrL wRaeL s,

glRel : 7 A9 : 1 [Asiidd MASTER ©)
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o d ¥ I3 ViUsRUL AVA 8dl dt 3-4 [Bax JAUSIAHL AL 2 del welld 2dR3 gl uRewel
3.

(3) 4 A Hwy ?

o UUsIAML A 913 2UALRA udlael sl d stellledsdl sl sald ©.

o J{usRUl AvA 91seL uRHl 2R3 udlam 2l d stedlled (carbohydrate) <l sl -Aldad uumi
gald 0.

o 53 2L i3 (plant) AAUstAAl sllul Avlld ddl uelld 2034 ula sl sedllzd-dl el
galld .

Ay fd ydusial sisdHi sietilddd dsane 52 0.

ug[x-2 :

1) & A ?

o Al 253l uiell, [Baldl 512 ¢Audl yeMelsdot (microscope).

@) 95997

o Gl 253l dl. dnl wisll gzl ofl-lL 53,

o i alsll 253l €510l v dorauofl %oUL uR 2-3 [ 8l €l

o 23 [zax ugl Gl 253l uR AL 3A12l Fal Hoolld [Beldl s1
MYAL YaHes- Aol A3 vaAdlsH 53U

(3) 4 A uwy ?

o oz ux dlal, s2ud & oflog ey 301l Hooll Adl HOL £9.

e i1 400l didel-l L FAl €1y 9.

e o3l Mool gal Holdl AL dideu Fdl AL $91 (Fungi) 58 €.

63 U2 591 (Fungi)

GrR:

GriR:

GrR:

i wsuell e 2uudl gea 2 2aeuad usdiad

A2l WS #32 wWwH ud & ?

Al viRLs ddidl %32 WAL ol 9lg, gt wHAL Gl R dal wlsd Wl Hie s
FalBUlzil HIZ €U 6.

ugudl 21 Ydluwdl QAL e U S,

URAUDAL @ Al Uldirl YRl Hie oflog u el 9. Gel. Mg, well, »HR-dd adlR. Ydiumdl :dail Yd

NN

i A4l 2l vslai-l slavHizdl uiver Had ¢, Gel. 591, sedls tiseRul adi.

-

aruldr uetmi 221 813l 69 d 55 Ad sl ?

SIS adulad wel @ dq uz u-dl Heedl UARAAL glav-l 23l Zul GHRL. R 2R 12
AUSHL 24 9 AR d 8 &R 2L U0 9. dzll 2UARAAL Zlul wel u GHRAL LR uslHLAL el
AUSHL Ul d 8201 431 320 20U €9 a2l sl wstd 3 aulanl uelHi il il 9.

@ AsH - 1 aciulaxi ulvel



N P oA (gl
4. qq%u[?tnjt adl ustaizanedl ulsa Q:tlﬁl?l %l[\é\cl qeial. /. wsaeal
Grr: ustaisadRldl wsal aqulaqdl welmi i . aduld-l
uel sRdge 4219 9. vl sRaged Yd-Glodd, s 52 9.
adufddl ueiMi siefd RSy A welldl weedl
ausiadl sllnl usiaizavedl Ful s © s [Huy-
3U B Ay 24 s10llBd 49 9. siofiled (sietlelie)
AUl 22120 23U AAS WH 9 2 AUl vilLs Yl
uld €9, uslui 212l Geult ustaizamsei-dl uldul yel adi-l
A3d 20U . i -
o e
wgll 24 vl auRl
5. gl eldl auaal 5 unasdHl Yaeyd wlld (source) aRuld ( pefusia h
69, (daan) (B
5 e g saldl 5 asuld vis wenl wgdla Awld 9. didl doreufel
Grr: ot dldl AUl o Bl uwa B 3 ¥ iz Glofedl Gudlol s | (enadel)]  (zrulEis G)
USLAA2AMEL gIL Uldidl VLS dUIR 53 8. U AWl Udd & quier]
uRla da aqulaHi AAsAAL viRLsAL Gualol s31 Wbl Had 9 Hizleld) b uRlaccd
% wislanl ealdd . i uzell sl wsid 3 MRsd-Al qaeid
Al AU D val R v 4l R 2ld 8. N famizs) J
6.  Slauidl wloy [Asey yrie s30 vuell- oroun yzi.
. Fill in the blank by selecting the appropriate option from the brackets.
(1) dlel arufd Wl viLs od oidd 6. dell dq s¢ 6. (Rauidl, uuil)
2) a2 glal AsAMd (synthesis) W5l AAS 230wy 9. (2, wsw)
3) 825 gll usiaRizameldl Bumi 34 Glof (sun-energy)-il AAS S 2119 ©.
(salRiBa, ayiu)
(4) ustaiaNeL MUl aduld saui-dl Ay A A
iy Hsd 52 0. (AU, st0i4 S15WS3)
7. AL sanl we Aoilfa wReuls aoe quil,

Write the corresponding word for the following statement.
(1) dlaw 21, [Refor usis (stem) 4r1adl wredl aquld —

(2) dl adula i @uimel 2 [AnHuidel ol usudl (system) €ld 9. —

(3) 2alL 3 (pore) =il gL ueMi Ay [AfAMa i o, —

el : 7 2491 : 1 [Gstiel MASTER ©)



A 2udan [@seqinidl vl [dsew yae s34 quil.

(1) 2HRAA BE1RW8L (example) 69... - C]
(A) @Ml (B) Wl (C) Hdld (D) wuIMl

) fesiA (insects) UsdlA ldil 2U81R o=ua-udl aufd.... - [:]
(A) M4 (B) A4E (C) suavel (D) 2Lellol

(3) USIAAANR W2 SAL QUL Al st d © ? - C]
(A) ORI (B) ue{s (C) wellarL (D) dAo%Y

@) atRufd acraRmidl slel3isnEs ay Youd ... gL A ©. - C]
(A) 4o (B) Usis (C) ysl (D) wel

Aoy, A0 sl
Match the following.

Bu2

(1) sdiRifza (1) (A) DA

(2) USZL% ) (B) uuldl
(3) A4 3) (€) suavel
) well (&) (D) usl

(5) Slemall (5) (E) uredl

2l 2udai Qe i wzi 3 vizil Rl s3i.
Mark 'V ' the correct statements and cross ' X ' incorrect statements.

(1) USLAASANBHL S16{ANALSALSS ALY, 5 AU 9. -
(2) % AUl Uldldl viRLs Ad eirid €9 dd Hdwdl sé 9. - G

(3) UslAAANRL gl ULl Hog, Al -

(4) UslaRizauel eMul IR Glodd AU Glodui 3uidel 2 §.

: [a2u ugRia :

AL usli-l gL W 4y [Aseu e 53 d-l sH Quil.
Select the appropriate option for answering the following questions and write in correct order
in the box.

(1) DA U4 sul ves 2uuen AR (body) M s 25 O ? - C]
(A) ULl (B) slollelSe (C) A0{l (D) UUE dHIH

@) auld (plant) A Heeell Wil s ad et-ud € ? - C]
(A) well (B) slof 31y (C) vl (D) UUA dHIH

(3) AUIMEL 5l Dad g 58 & ? - [:]
(A) uuLMl (B) UUIMEL (C) @ul (D) Ydodl

©) AsH - 1 aciulaxi ulvel



@) aruld-i el (leaf)-u dlan o 521 ([s) (pore) A g 8 € ?

(A) sARUBA (B) A1y (€) alest (D) vl
(5) usiRisaNRl (photosynthesis) WEUHL sUl Ay Yod A &9 ?

(A) S2les (B) 5l0{ AKRUSS (C) SLO3L% (D) [5A%
(6) A UA [Qunuill ®a (living) sul € ?

(A) a-2ula (B) %d, (C) AU (D) 2UUA dAMIH
(7) auldg sy 219 (organ) vuel 529 5 2nvuy & ?

(A) 59 (B) 4o (C) vl (D) A dMIH
8) ariuldni well A villogaral si-it gt uel Yl usial © ?

(A) AUy (B) eRdsal (C) algst (D) sdiRllze
) aruld R sie dididl viikes (food) d ei-iid € ?

(A) U8 (B) M-l (C) uall (D) AN
10y U4l 585 a-uld A2widl (insectivorous) € ?

(A) Hallu (B) -5, (C) A ¥t B it (D) 2A5Ugl <Al
(1)yedl u2 Gl (energy)-l »vi2 Ald sul & ?

(A) g (B) dIRL (€) yd (D) AU dHIH
(12)Hlul el well 214 vilogdrald xagiuel (absorptions) S8l $3 87

(A) uel (B) allvil (C) 4 (D) 59

slunidl dloy [Asey ude 531 vudll- xoul yal.
Fill in the blank by selecting the appropriate option from the brackets.

(1) 31 (fungus) wq 9. (R, ydwdl)

) Ui eRdged w2ladl dla 29 91 418 Adl 4O B (HuzH, dls3)

A 2pdai (sl i) wrl 555 vizi-l Reu-l s2i.

Mark 'V ' the correct statements and cross ' X ' incorrect statements.

(1) AU (algae) ¥ @] 9. - C]
2) 4d 2 orL Al M2 G-l 2ladly Ald ©. - C]

Aoy, A3 Al
Match the following.

G2
(1) tiell (1) (A) Slectall ariula
(2) HU3H @) (B) [awai]
3) saausl  (3) (C) 2wl
4) el 3) (D) Wod] a-uld

JUOuouuuL

elzel : 7 29 : 1 [Asiidl MASTER



5. AL UL 2S5 SAUL UL QUL
. Write the answer in one sentence of the following questions.
(1) 512 uaa 5 ua Ad auld u2 2u A ¢ ?
(2) WMS ed g ?
(3) udiui [Aldy FalZuzi w2 Gl sia uel 53 € ?
(4) Wnsueldd As sl [ui g 58 ©97?
6. -l carvul 2yl
. Give the following definition.
(1) @it : % Al 40 veldlHigl Wdidl wils od oidid 9 da iyl a4l <uadsl (Autotro-
phs) & €.
@) il = Wzl 2 oflo qen w4l Uididl vils adufd wAdl qad 9 dd wwil
uzladofl (Heterotrophs) € €.
(3) 4adl : 59 Hd i Adl aal vellHial W Rad 9. ddl dd Ydodl 58 9. 2L USIRAL WA
‘;L_CL\L’-L@CH (saprotroph)WilMeL 5& ¢9.
(4) USIAA2ANRL : a-ud s1efA3-514153 27 welldl Gualol 531 yd-ustasdl sigddui viisd dsaug
5369, AL UBULA UsLAR=AMRL 58 €9,
7. aslad-l ol - ol ﬂ&lbﬁ avil. « Write two point difference of the following.
) quin) uuiyl
e ¥ AWl AW YgllHidl Yldidl viRls e AL Uldlrll viils dula vl
A ol €9l AU 58 9. H4ad 9 dnl uUMl 58 6.
o a-ufa, dld a9z ayidl €. o Gel.ud, Wl adl yyll uwa .
(2) Yazdl ud|
o ¥ A%l Yd i Al Al yelalHidll o secfls ariuldatl Hl WISl Uldi-l wsel
WHRL Had €9 de Yawdl s 6. Hie ol U e 89 d- uRluwdl S8 6.
o (tl. 591, 6iseRuL AdR... o Gel. v3ad, uiRllil, Hg™ Q2.
8. ~llArL UaHi-L Yo Gl-A” ASAHL @il
. Answer the, following questions in one-two sentences.
(1) US4 g ? dui Gualoll B25i4l (components) UM ARuUAl.
Gr: aduld stefsdlsus i welldl Gualor 531 yausiasl elwdul viikisd Azana 53 9. 1 Ulsun

USLAAANRL 58 9. L UBAHL HoU Il WAal wiell 2 viedlorddl, Ay Glof, sielq suisuss adlR
82sill GualoL 21y 69,

AsH - 1 aciulaxi ulvel



2

GriR:

(©))

BriR:

(C))

GriR:

)

GriR:

10.

(0))

2

arulani adl usiarisana-ll ulsad adls@ (equation) @vll d-l lue ual.
aryfani adl ustarisan-dl Baig Aalser {12 Yoo . Fui dluw 30 sotlled uell 49 AU+
Hal 9.

- ] 2
SO(IA5AS S + e s

8Rdgu
sARIZA 212d g ? dd 512l (work) eudl.

adufal welli dlg Irsacd vidd eld 9. % sellBA xadl sRdge 56 © ¥ usla 3 Glod, alwel
SAML HEe3U Y 9. % Uslal ARl [(Barnl Hetadl ¢l &g 69,

ud| a-uld »ied g ? Gelsw »uul.

3edls aulddl dldidl Winel W2 oflon v 2R A (HE) 9. 24l adufdd wrodl a-dufd s 9.
BEl. AHAA. d = 9a U 2URARL s3A duil Wne 20d .

> s16il2d ueld + AUEA%

A2l UL HEIRAR YA Quil.

Write the answer in detail to the following questions.
250y avil (dugld uldd)

‘Ssial’ (cell) :

PEEY

SIMAUAAR

AAe, AR Y& uesl oAd Sld 9. L uesiA siM (cell) s€ 9. siuA yaeals Aol 4l o A wslA

9. 52dls YDAl Ul s o SNl oAl Sl 9. SN s Uldoll ARl valRd ¢ld 9 e

NN

SIMRUAR (cell membrane) $8 €9, £35 SIMML 82, HRHL dllscldel AL AUl Sl 9. FA SIS

-~

(nucleus) 58 . siMSwasdl 2AUA Fl %9 g 2UAE A © % 51N (cytoplasm) 58 9.

dsulRs s 2l Aueal.
explain the scientific reason.

uRld auldd LS 58 ©, 512 5... aquladl weli sdlABA A dra 2uag €lu 9. 2L sdiABA
quusiasl Glod-l e 52 9. w04, usl saiiBFadl 1eeedl ydusiardl sigddui usiaizdve-d ulsul
530 arufd | viRLs otrld © A AAS s 9. dell uelA a-ulddd il sE 0.

€35 uwa (living)l @a- @adl W2 yAusa ¥3<0 6, sRQ 5. usii=avesd uEumi sdiiba
yustadl sl stolidisuss vt well-l Heedl stoflelsiied A2Au 52 6. 21 solelSie adulani
212430 AAS WH © 2 aquldAl VRS oA 9. AL UBUL YAUSIAHL % Al 9 A 2= wigllil
a5 uRlal Ad aduld uR et . ddl sl asid 3 es AWA A wadl v yAusla %33 9.

glRel : 7 A9 : 1 [Asiidd MASTER ©))



EEEEEREY

-\

fNemell arufa-dl Wldl 258l 59 Alag sies yal s

s aquldd W sl A HA 9 ? BERARGENEIN)
1 souel %

2 [ad wellua elicl

30 AR LelIc]

o dHIFl woudl sl wudd AleiGurdl Halstdd 2idle s dal dHl aqduldd 59 da uie
AL 2 9 d-l MUl 258l s

o -{laan {lui i well-l elleani Goudl, ol izl qlad adis s3u.

o el el o1l el vissi 53 A1 duR 53 daul ad{vizHi @dudl.

5H Eclil vI|?| X

1 | geteuldetl ylyer HIEN2a HSsi2) vel] 2s €9,

2 | geteuldHi sclRllsce] Hewd 244y 2US .

Slecei] derulaeA) [do) veisi2] 3nd €.

v : ‘ 2121501l 26l :

-)cmle'] 2dlaiel] siysHI AHIAd Ale1s1BReel HalSIda] ARNYa SA el
di deiufcial s¢ A WNer HudiHi BHid & dedl Hi[éd] A58l 5.

» Hoflddal ovaleti el uiellell oledxi Bons), oial ©isell digso] sHadiset s3.
AsH - 1 aciulaxi ulvel




yvieilaAldi ylyel
Nutrition In Animals (cygl2iat ga1 WleicRi)

- V11 AsHAi 2j 2Alvil] ? (Learning Outcomes) N
vlirls Haadl-l el el usldil. (Different Ways of Taking Food)

‘-lju{‘-ll YA+ (Digestion in Humans)

Bl vildl Hel»UHl uidH (Digestion in Grass-Eating Animals)

UL VIRLS ABLL 2 UIAA (Feeding and Digestion in Amoeba)

(et (Ricl-vidY)all 2AGE) via GrARE

ENAS) human SN stoillga carbohydrate stolls1d 32
Al gland a3 %52 stomach 22U
idR§ intestine $2215 | warda digestive system 1dx(zea Rizen
G tongue 2] eld teeth da
Raaia gall bladder ad 6A3R | waroll alimentary canal Alq-23 s-ua
Hl mouth e 2512 shape Ay
2001 organ 2100 e Aiax§  large intestine A Hrer2Ndn
DR bile susa A4 yAd) undigested NS B3
ARlNAIRL ruminant 3442 LA grass ALA
(M EIES food 53 uag chew 3
uglai-1: {2 200a Sles aizl 2t u1ed. | wal-2:
welld (IEIEN] AR 5L () §sdg? N
Y, usIR usiR/ugld o dHIRL Sl YL
alsnaL | uel A g | vildA o AL ASH dHIRL sid LI
514 241% 21l o U5+t AL Arll 2541 Al e el HURIDIL.
Al Al @dl | usde, ol o 61U GRRAL, SMUAl HIZ dR 5UL Sl Gulol 530 el ?
sloL ot d g 22l o aual (l2al) A sleal W2 UL eid GuAlomi el ?
S S 4Rl e 29dl A ¢34l (804L) HI2 541 sid AU oL o AL
x92 dlél {1 . .
udBly | ywia ol %L yuioll g2l eid-il usiz gladl v 54
vl oLl o1 o Al Al Yuioll gl s llag sy | Gug ¥e
slug s A A g
e el YEL ADAML VLS A sl | | oG Mg
Usld dHy dodl-l vl [@ldua 34 >
gl MOl €9, Sl 2 2 4
A4l 24
sl 10 10 20

el : 7 2491 : 1 [Gstiel MASTER ao



gla-l otsasll 214 el %EL UsRU &id

®  VUBIL HIHI 54 32 eid SlU 9.
o il gidrl §4 AR USIR U3 9.
(1) 95 (Incisor) (2) 21&{l (Canine)
(3) »Aclé (Premolar)
(4) L& (Molar)
®  SlUdl Ve 6AG HRAL 985 eidel GUULDL ALY .
o flRal 2 5139l A8l siddl GuAloL Y €9,
e A9l Vel ML AALLE Vi Blerl GUULDL ALY €9,

1) 3 Ada ?

o o suAdll, Gsiaal 2AlviL, wisll, 2R glavl, SR,
@) 4 539 ? < S
o o syull cl. de ‘A’ A ‘B’ AiHl.

o 5Auu(l A UL s AL Gs1AAL AlviL ALl

o Gsidlal Al 3-4 M2 A1l ugdl syl B 4 -Lvll. ‘
[ ]

[ ]

[ )

ga oirl sAA0llul 3-4 [AQ wiell Al ; AR sl ——
©d oirl sl 2-3 2lul UL ALl well
sueolldl 210 351 AL HIZ Al HA €9 de, dels
N CETITIEN T
53,

N ~ 2 . ~ . ~ G 1 A& nen
o G5l Al eel su-ioll A M LR glas GAdL Gaiflar 21 2ude 2w

el stotilBa-dl slodl dlf glast 8L 5101/e431 391, ot 9.
o G510dl e Alddl Alvil HE 530l B M 2Udl3d glaRl GURAL del 201 821 S100L/0420 Al el
343 v Alace] i Hadl Ao (Saliva) 21 steillBa (2e12]) ) 400 25AML JuidRe 53 ©.

ual-4 : 2MAL MIRUHL el uu A yoror
. - 530 asi.
(1) g Ada ?
o iz glaml, Hlsid glael, dlopl R, sedl dlHil »aal sieaisdl 0 -
R

@ 4504 ?
o MRl SIS s AsUSlA 2l uZl olitl A d/dRlld wH olelR

-~

R vdl — o TIE]
516l el ,
o &y Ml i ugloll Ralami ¢ d dd AvialL sel. il wisl
e ¢d 5 Yg sid vildell (tooth pick) dl. . .
o)

o {12 2iglani ealen uHISL 28 Ul s glaRirl Ayl DH AL ML
12 AsH - 2 yielAHi uvel




U Yl ASIRAL.
@ IR ASULSIA Y9l & 9eiell SUL- ML L6, WIRL, VLl e s3ql 2alle uiRv{l sty © ?
o yael vslani AH-[REgal 532U,

2 Asudl g 2iudl e 2 e usdedl

1. Sluuidl oy [Aseu uaig s30 vdl ooun Yz,
. Fill in the blanks by selecting the appropriate option from the brackets.

(1) Y (human)Hi WMeLAL 3vd AW A 54

2 9. (WA, B, AWMLY, Vid: A8, AidllsL)
) Wirqudla-ll il “iél 2R (gland) ©. (agd, ugaiay)
(3) W&™ML slONSAURS A i Al U 2Ad €9 % VLS U [3ul 52 9.

(wasu, W)

-~

(4) -l Uil (small intestine) @igal glaiet Uz 0l ¥4 2445 uad (GuAdl) & 3

5 . (uigR, M)

(5) 2Hlouni eiloeie Wt Hi 9. (euaandl u0l)

2. DA 2ubai [Qanl e M wzi 5 Xvizidl Raud s30.
o Mark 'V ' the correct statements and cross ' X ' incorrect statements.

(1) stelllzd, uied s™Mi A3 ALd 9. _
(2) @™ (tongue) AL vIRISHL 81 s Hes3W ALY 9. -
(3) [Adi2u4i (gall bladder) At AL3L AHU HIZ 21550 ALY 9. -

(4) 2[MA2 vIA A Yt HIHE (mouth) clelA gl [3uL 52 0. -

J0od

3. A uglAL gas, e iy [dsey urie 3 d-l sH avil.

. Select the appropriate option for answering the following questions and write in correct order
in the box.
(1) $10Uled (carbohydrate)d 2yel WAL suL 2iaHi wy 8 ? - C]
(A) UHIAY (B) yui (C) -, 2R (D) HIg My
@) welld sasiug Yrud s viomi wu 8 ? - @
(A) UHIAY (B) wiwieoll (C) -, 2R (D) M HidRy
4. Y %3Sl AL ¢ Match the following.
GriR
(1) steilelsiex M (A) 3R 2 ol
(2) uiél ) (B) A5
(3) Aell 3 (€) ¥l iR

(D) slSslsalRs 2R3
el : 7 2491 : 1 [Gstiel MASTER a3




0y

Grl2:

()

GrR:

(©))

GriR:

(C))

GrR:

©)

()

GrR:

flAAL Al gns Quil.

Write the answer of the following questions.

leRiu (ig2) Aed g ? dd, 22 2 51 opeudl.

Al i3] el Elaiaui e 410 Fal el Uadl al 1oL 9. ¥ lHAM (RAUiLR) s¢ 9.
RLgRAAL AUl WA vllLse, el 5369,

[ (bile) $Ui Geurt A € 7 d WIRASHL $UL U2SHL WAHL HEEZU A €9 ?

[ agdul Gaut 2d 8. usd 2 iy A<l Alell el 2R & dan -l Aas Raiganl a9,
(U2t 21 vilRLsHL AR0{ 825l WAAML HeTasil o110l ¢ 9.

sAL 1oL 32, WA HIL ARIAIRL (ruminant) Well2Al $30 a3 € 2 wndl gt dd want ad asd
gl e W ?

AelloL WRl>ll AL Fal slell-slieud Wl saL Hi2 UaH . U 2 53 asdl ell. Hgw
ddd alimel s30 asdl Adl, 5191 5 AR Ul S2dls 6isRuL glrL Al 69, % MMl Al sldl Al
Aol MqHL ALl 2 Hlel tidral a2 siaoll Fdl vigiot AL el ldl el aell Mg d gl
el Aeyellosd, wiad 530 asdl |l

agslo5uiell dd o BGlod Uit A 8, 514 5...

oG sloy B WSRAG AW AU 9. Pl WAL 539 Vol % AW 9. sletllieUd AL AZUHL Fuidw
dg5lopul 2 9. aull 9gsios UL AlElML AWML WA © Ut drd o Glofd Ul 52 9. UK BUR 9GS50
Al Al 219 AR dg wad ad o33l el dell amiel dd o Glod w ad 9.

WAL $uL L AL (Bl i 8 d-i um quil,

(1) YulRA ol 2dlMel — AUl 2UdRSME (2) Sl Aldd,. —  Huemi
(3)  GisRuLl L9 Ydl. — MUl (4) lRLS Ayel WA, — sl AldR3H
5)  HolRxfa. — Hi2L AidH

e, i Alonn] 2y Wl il 2 [Afdudn avil.

AHLAL @ AU 20 LU VRUSAL WA 247 Glod Hoaail UBuiil A 9. oldul was gL
vllRLsHL w[ed B25ld U0 B251M1 JULARSL 2l 69,

(Alasan : 2Alonul Wil UBUL A0 AR Ueul WAL UL sfRd . iflell Hi »in wHdat
Sldl A2l 2R HHUL d 8122 U 9. 2LeUHL o1l VIRLS phrtel{lHl WA A1 9 AR ML VIRLS
8250 WA el el GIOLHL ALY 9.

-\

A19Y 35l %sl. « Match the following.

BrR
(1) dlila (1) (A) MaaxAl Ald
(2) ¥&R ) (B) U, clogAL AAUS
(3) ugd 3) (C) AURAUL Al Al
(4) Houad (4) (D) VUL A1 A1
(5) g Aidg (5) () W ysf s
(6) HI iRy 6) (F) welld »tasiue iy

(G) HoLcIaL

AsH - 2 yielAHi uvel



7. A 20Ul 2uglani wAardA Guetnl un saldl.
. Name the parts of the digestive system in the diagram below.

%tlél?l :

i)

ugd.

2augus
Ay AldRS
HIE widr§

HouAY
HANGIR

8. g wa dlel aduld/madl vils adls Gualdl s34 @adRals acdl as ? w e ?

Gr: dlell adula/ain i ALSHIHL MY HPUHL AYALY 2 Sl6[Bd Sl Sl 9. g™ dHy =Rl
welloll Aydlnd wat s30 asdl Al SR8l 5 diidAl ARHL AL dRL A Hi2L iR a2’
staull ] viaiotdl L Sldl Aell. duo eiseRUl ust sldl Al % Adiond was 3 as. ddl »uuel
Hiol s1AUl, uissialol ALSHIE w2l B U 2ARA@ 2s1dl uvll agla &l

: [a2u uglil :

Lo DA usi st w2 dloy [Asey vie 530 d-l 51 Qv
. Select the appropriate option for answering the following questions and write in correct order

in the box.

(1) v (food)l WAl A3 A a1 2idedl ay © ? -

(A) -, 2HdR$ (B) %82 (C) HudLel
(2) HURLSIML BRSL $UL 8257 WAl A3XA A 8 ?

(A) w14 (B) U0l (€) [Qala+
(3) %62 (stomach)Hi 2y iotd: wad a & ?

(A) swetifed (B) A0l (C) Wl

(D) ttA(l
(D) Wl

(D) viloraur

elzel : 7 29 : 1 [Asiidl MASTER
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(@) s auadi viRs- ward Bay yel a8 ? - C]
(A) il (B) %&R (C) HIg iRy (D) I, 2Hidg
(5) WArd=A (digestive system)d 54 {0l wasA Beu—t 54 -l ? - @
(A) HMdL8L (B) %82 (C) M idy (D) “llti, 2Ald3g
(6) A 245 viiASAU Un 20l ©. dHidl s - su vis 2034 w0l aedll - sl - C]
L)

391 w9 ?

(A) GlI5EL ol22l il 9y sl (B) oU3dl o2l i 6l3
(C) 24513 A 6ls (D) &3 2 AUS, dd
(7 A-unidl gia (teeth)dl 58 N3 iR g €9, uig sl Uy & ? -
(A) ualleid 24 9es eid (B) tlé i UALl3
(C) 985 eid 214 &2 (D) Al i alleid
8) Wit vl szl e wanHl s§ ulzun el © ? - C]

(A) &R A0ll g = viald: WA > qilag - Ayel ulu-

(B) aAlng - st o0l od = iad: uad = dyel wiux

(C) awllag — gt doll od — wAsA A2 [ ad > wad

(D) 8l ol g = 2Alad i ML ad—>viad: WA = Ayl A+

©) 2ot vl ol GualaL... - [:]
(A) Sd--Ade HIS ULY 9. (B) Mol VlRLS Usidl Ald 9.
(C) VIS5 UsiAl A sAr-Adrd SIS UYL 9. (D) Uyl 2u-A 591 21 9.

A 2uuai Qe i Jwei 3 Xzl Raudl s:i.
Mark 'V the correct statements and cross ' X' incorrect statements.

(1) 2teiofl HsHL v €9, - C]
(2) el 23l dotsy 7 Hler wedl sl . - D

M IDETRER ETR P PRCTE I CTIRC IR R
Write the answer in one sentence of the following questions.

(1) R[5 s U5 B2l WIS dls Gualal 53 8 ?

(2) 59 59 ARUN WASAUAL U 0 8 ?

(3) WAl (alimentary canal), [RulEL s su1 Gl gL & ?

(4) %82 (RUHIAA) L 21512 (shape) -l Bl 8id €9 ?

(5) W2l A3l doeus (large intestine) 32¢ll giu ¢ ?

AsH - 2 yielAHi uvel



0y

GrR:

(0))

GrR:

(&)

GriR:

C))

GrR:

)

GrR:

Q)

GriR:

(6) dHlon AL gl uAA $3 89 ?

A2l carvar 2l
Give the definition of following.

(1) W : Rl %led gesi A0 @3uHl 3uidelL 2di-l UuEUia v (digestion) 58 €.
(2) WRAdA : Yupsl, enoll, weR, dld idE, MG idE 2 HOGIR A9l Vid0l-AL oiHdl daAe
WAHAdoL 58 €9,
(3) RAUULR ¢ -Urll AidR LAl viedl glanaui sl 210124l Fal Al Ul Fal 1ol 9 ¥ WG (villi)
58 69,
daslad-il ol - ol ﬁ&lbﬁ Quil. » Write two point difference of the following.

Al Ad$ HIE xid$
o d Hl2l Hid3l sl dIR dioy 6. ® d vl 2AidR3L Sl 2§ 9.
o dui VRS WA A o i s5d Wl i Sedls aRld
all™BL 21, 9. gll™eL 21y €9,

AL Uil O - QL ASAML FAsL Quil.

Answer the, following questions in one-two sentences.

Al 2AASIHE A YA v [Asid 56 dd w8 ?

ALl 2AALARIHL A YAAL VIS HIeL ALAR3ML 20 9. Al U vl QA AR 200 98 9. dul
el qriRidAlL ulell A s2dls &Rl dlmel 2 H™ML 6101 9. olslHl AURA viIRLS HORAZU HoUAAHL
AARA 21 9 i >LoY AHY 1oL HAGIR glRL AR otelr [Fisia 2 6.

wiisl S0 585 Ad od © ?

YURLSIHL Ys1AEl VRS sid A -l Heedl Al 9. viLs A5 ALl Al SSIHL FAA 9. i
e(Mul Yuopeiil suddl An-2ARAAL ARy VIRISHE Aol 9. el BURLS A A Y2 A
siBAL ot 69,

oLl vilRLsL WAL ol Ad Hee3u i ¢ ?

BIRLS HURLSIHL YL IR G A SUHAH 539 €9, sid VIRLSHL 2531 52 €9 dal ALl viiRLsHL ALl
o5l 53 9. ARSI AAAAL VIRISHL Al A0 €9 F VIRLSHIAL 2125, A5AUL 2iAd: FuidR 5 9.
UH VURLSHL WAL 232 HowdLelel 2 69,

osui 58 Ad wAAlZa iy ¢ ?

BSHL VIRLS A IR dMl WU MOl €9, USA VUUSHL 8L Y&HlAL gl 53 9. ws+ll viexd]
glale 2Qwsl 2Ud 53 €9 ¥ w6l il elalan 81 Ul 9. ¥sML ULl viald W 2 .

| SR (grass) WiriRi ugi-d Fu Aegdin yaidl asdl dl. W ?

Bl VAR UYL WAL ALl 2 Hlel 2idR3L 92 viglizel AL 2uddl Sld 9. Ul Aydlnd WA
sedls oiseRalL glrl A1y 9. gl Ul 51 AL €ldl A2l dell Aqeios wALdl asdl -l

WA AL UL R vl

Yupsl, vietoll) w83, Al dyg, HIE i, HOEIR ALl AMLAL UlAAdAHL 21 .

el : 7 2491 : 1 [Gstiel MASTER D)



@
GrR:

()

GriR:

3)
GrR:

(C))

GrR:

1)

2)

AL UL YEIRAR Ao Quil.
Write answer in detail to the following questions.
g[8 gid 2 22l sid aAAL Mg umendl.

UYH AL eld AAAsiol sMaul [Qsi Wi © 21 6 4l 8 adl G4 udl 2u &, diiA glBul sid (milk
teeth) s& . d-l Uiy 2l cid (permanent teeth) il 9. 2l eid a5 Rl 8 ©
A4l dl GUR Al 2 eidl 2L Al Ul oy 9.

ARl vliRLs dils Gualal s ugpiul adl waslEun Auendl.

BlAell WIRLS dls GUALDL Sl Uil vot o Bauell B d1u(l A €9 e UHIAAHL AAS 9. UL viRLS
HYIRAA o €9 Fe ‘AR’ 5€ 9. Ul ARl wAledl SLASIL 3UHL HIHL ULl 2419 €9 i UYL dn
A 9 ¥ ARG 5& 8. Role ARlOARL URlliul suadl siaoll dl el Al d-, 4yl
Yl A1y 9.

wflonni adl wasfzu uHal.

w{lotln FUIR VRS AU AU 9 AR drtl Wizl Yol viLsHl 5 Seld € e RS oull Ay 6.
2L ViRLS bl s 9. viet-lHl UASRAL sedld © % viiRlsA A0 usladlHi 39 9. 4R €2
WRd viils et Wi 9. llBd v qlg Hie, 2R 2sidl Avial it SNl 6lgILRIA Wi AU 6.
AU 98 vILs 4L g1l aluiel sieiR F514 6.

il cuazan Yot eldl-n [@Ad-t R | 5) DA 2uda suglini e e e udlui su
suglaui saldl. sa1 2agll uv ssuddl wa O d galal.
GrR :

elé

AsulAs sReL 20l anal.

Explain the scientific reason.

quR Mears 3 Awsdz vudl ASA ], s 3., w Ad iy ML AsRUL 2nddl di 8 ¥
AURLA 51 sdl tell, uig ay usdl Hlsld § Alsdz vl d sid a2l goqsiHl AL nd 9. A
tldrl AR s S2AUHL A 20 dl SUFs1Rs seRuL glg W © % A s 52 9. L RS eld-l
AL 52 9 adl auiR Hlals & Alsaz vidl sl A&l

Garandl viits a2l ASA ], $12Q 3... Glandl ¥ sAdl sAdL VIRLS @SB e9laL UL VLS ULl
AL AAAGIHL %l 8 9. viiRLs AL gl GaA 5 S35l U © AAdl AUl Ageild WY 3
ANUML 555 SAULS 1Y 9. atizll gl Ay

9 Y12 Galanel vis ULl A SR ALl

AsH - 2 yielAHi uvel



(3) v vor i (chew) vitdl A4, $1Q 5... s Vol Alaail dedl oudls oisl 2d © e dHl
Yl UHISHL @l M0 9. d2l viRLs AR 2 Il ot 9. vilLs Vot Alqaiel 212l Heeidl HiMl o
WAl a9, vllRLsHL oflo Besl uRl e WA AUl wdel uA 9. Ml vils voel A1l vl

h sdfiRil vidl silvse 4

CNY A N A (N
gldldl caqen dal usR- 2R dlAd sies yal 52, waflonui adl viiaisl Asel 2 Wl

(31 ealadl >usld €l

gld-ll UsIR gla-il Avuy
1 ¢z (Molar) 12 SN5g
2 mele (Premolar) 8 L el
""""""" : wisHl S
3 sl (Canine) 4 (Aa:aen) &3> ,
4 55 (Incison 8 X A
g4 v 32 ,
g el

(viisll utu-l)

o 125l RABUAA-] Yasid dl vt (1AL Yai-dl 2l 52U

(1) eeld $413 9¢g 510 2ualel ¥32 ud 0.
(2) g5 i Yl il 219 9 7
(3) eel-l 2aami Adl YAUR/AHL 2@ 51l 2l s10ll 9 7

o vRLs an-RL Wil wiel oi-lal.

o (A2 g © 7 d aldl 2 AL MUl 241Ul
(1) el viikisHl [@Qa™ a Hie o33l 9 7
(2) sdl uslRAL sl [Qau®@q qoaar v [RaBaudl vl s ?

SH Eqil v

9

-~
X

@A)l YIieids [d9) HilcdolR €.
Hope2jel| Elctatl ysi2) [d9) 24y Hod 8.

arenaeii2i MieillAlell yiRiei2Hon [d9) a1l €9.

YlRlalcioiell 191, Elcall MSI2), &JRiall 2dIE UIRvidl (1121)a1]
2AIgldi)H ei3/c1ERIe1 S2] 2AS €.

AW IN | =

el : ‘ R12154il 246] :

-) olysal Rlilsciicelel] disid d) 241e) olRletl HgrA)e] oNél 52).
(1) gglal s2i2 ogs)n Aydied] a3z us & ?

(2) oGSy sall el AriaiHi 41d & ?
(3) €lef] 21cReizi e €214 °gSImel) 21l i) & 7
» vl2is drnaeizi el (2142 )ail 2] vetid).
el : 7 2491 : 1 [Gstiel MASTER a9




Gwi
Heat (&le)

& i Y (Hot and Cold)
dl‘i‘-ll"l‘;j, HIU (Measuring Temperature)
UALLULALHL C{‘{QL@ yHHlex (Laboratory Thermometer)
@“{L@' UARWL (Transfer of Heat)
Geitoul 28 2l [Qatousdl gl usdel Hiedl azell

(Kinds of Clothes We Wear in Summer and Winter)

o AsHAi 2j 2Mlvil] ? (Learning Outcomes)

(gt (vRicl-idY)ell 2AGE) via GrARE

EE] mixture Rsa2 HEASS poor conductor YR §=8522
dAluHIA temperature 23R s+ conduction 57353
oY hot 8i2 ) tea el

el water aie: Y medium ([Af3un
ooyl candle 53¢ uglY object Y62 52
wAld flame $QY ol soil Alda

Gwy heat d2 e[l sea Al
PRIREIGT laboratory RINEEE]] 615 ice 218

AU AL similarities RRaRan dsldd difference RE-EE]
[alasa variety Al SN care 52

254 unit yR2 58 size A6

8 home M) g, metal Hed

lvis iron 21 ) jute A2

AlsS wood q3 Grriae, heat conduction  dle $=3s2
uasl liquid [lzas EEHEDE] convection PRSENE
X cold AT Yauss good-conductor A3 $m8522
uglx-1 :

1) g Ada ?

o oL {2l wual, el

@) 9 5304 ?

o o M2l WlEL dl, drll U A, B, il C Aold UYL, Ll
A Ml &§ A el B i oY vl ¢, (uaddl: el
gy, eg M el ad «dl.) . 5

o Wil C Hi 34 UK clall HL s Wil M - 1
(mixture) M3l. ! I I

AsH - 3 Gl

©




S dAHIRL 316l 12 wiEl A AL iRl i oHell sl widl Bl wisllHi 3ol

AUROUE 2-3 [A[A2 Ul dHIRL 6l sl 2512 WLEL C ML golldl.

9j, ol 12l AMIA M 5269 7

AHRIL SlAML WIAME 211 Well Sl ddl ™ AlX 9 wUIR el slAHl il well & ¢y ddl

Migfq A E?' . 831 ARy AU yglal
u\amru DL':J.‘-L 5 &3l Sldld, UHIReA HiuA duHiA a3 v s [
LAY 69, A §31 ARH,
AlUHLA, I Sl Al AH1HleR 5€ 9. ATREEAE] v/
ALl SUHL AL 2432 v
$2 wY™ v
dnal-l 536l sial v

uglti-2 : A 20Ul ouotdl -l ai§l-uHA.

o auifl2z qiad ([Fsa azuifleR)
AL UM dHIHle L wawdl idal 6 Hiel visl g3
AlUHLAAL dsldd 32ell © d il @l. aofl au-l a2l eo1Hi
54 32l [action €9 a-{l we iy s3U.
o 2u{lea quRI9L uddl 2 Ul d1oy gg-ias (AAlRAMRs)
glaviell aig.
® YR YSAL IRl 2R 35°C Ul 1A 9 5 Al d gl
o dMIdl Rl AHIdR IRl dad Av{la gl
o uHiHlet 51009Yds AviL. %A d SO 5691 usled ALA AU
dl qél as 6.
o Au{len dHIRL sl Mgyl ¢l [Ag 931 uell
usdfla enasl alils sest L. el aMiHlex Al Aollui
ed 4533l (W) A Gddl il
o {5yl elRurdl 931 35°C ol {12 &9 Al viadl 3.
o cd HIHlerAl Hsylainl 931 HlelMl Ysla dHIFl 2L 12 8 ax st [lRe vl
®  QURGUE drl Gl8IR 51l 25 U, dluHLA diRl.
o  HHAAIR AIHIL dlUHIA 37°C 1A €9, VI Al S dluMist dell 254 A1 o sallai 9.
ugla-3 :

1) 3 Ada ?

(sa[Rsa °aMiHleR

2 45097

ARl Bl (Aol 2069l g1) Al AZNRAL dudiA BaFisa a4l a3 HIUL 248 dHIRL 2Ladl sl
ALY $3U.

el : 7 2491 : 1 [Gstiel MASTER QD



AU AlyHIA °C
[ 36°C
Hidd 36°C
5381 36.5°C

(Fatict 37°C o 35 afmirll Al Al oI 37°C <L uL LS Ak,
BIcH] 38.2°C AR LU 37°C Sl U8y AY 5 il UL €l A5 6.
ol 40°C o uaddl:
{15191 39°C HiAaudl Rasl 519 Ul uslelqdl diusid Hudl w2
el 36.8°C (Falmsa ai-Hleaell Gualal sdl el (salasa
09)[d 36°C 1HlerA dsstl § 0AHAl Aws el A&l d-udl d
s 41°C IR CICETRS

ual-4 : detidedl aruisleell welly drusil (temperature) Hiug,
1) & AdA ?

o wdl 5 olsr, Al wiell, dollwedl aHiHler. Y =
) 9450y ? el

o wdl 5 oflsmi Al Ane wiell iRl
o 4 aolizedl AMiHl2r Gur-l a1l usdlA drtl Hsylall 931 sl godl e ]

¥ AL

o Hsydl oeoauoll aMIHleaAl 94l WaAHl dlBdL ¥ elalan 2485 Al A4 al-H{lexx clz
Glof el g

o ¢d, sadal uHiMlexA ulell-l olelR S1EL A il 5 ed g U B ? <

o 2y1Hl2r Gl8IR sledl WRL 1A GdR © ed uR AzHMler wsllui gedd €l
QR % dlUHLAe, vadls @S Ad Ad,

o ©d HIHlerAL Ul deHi MYl e el (Rl

o oyl Yl AIHlerAL uldul AsHl WL RAR A 2 b Yl s il

o ¥ 22 Wl RAR AUl A @lAddl vis d AHAd welld diumia sald ©.

u%&t-s :
(1) g Ada ?
o ol 5 wdl, Al o1 uiell, dollesl arHidle:
@ 45047
o ol 5 Al Algs 214 uiell (hot water) @l.
o dui dotized] aMidlex goudl Glef ollsdl.
o oyl YHl WAL RAR Al ul Yl AL %211, AURGUE dlUMLA dHIT 2Adells ikl @l

@ AsH - 3 Gl



Udt-6 : SAUHL GxHIAUA a3 GrHig uURRL

1) g Aada ?

e ool (candle), 2w

@) 4 s30y ?

o s HluoidlA 22w uR Yl Aol

o MRl As sl Hlewodl-dl adiddl uer Gur elfl A s d d
Al

o oflad el adld-l eyl HIdLHL AvIL.

e 9 IRl ol sl Aui Ld 2RHl A 9 ?

o loitll wdld GuR ABIA SlAHl adlR AR MUY 9. BUIR oULY {3
UR AN, SlAHl il dRH] vidHA 6.

o odldrtl AusHl el sal wUld-l oMl A 21 A GUR ds Y
9. H12 wdld-dl GuR Al dHIRL 12 Ay AR AU 9.

e ld (flame)-ll cuami Avicl sl d1RHL A HaAdL A2, s1R8L 5 d e GiAUA ag, Adl.

ugla-7 :

(1) g Ada ?

@ MUt UdRUrL 6L 3001, S0 2 ASE 2L, wiell

@) 459097

® AHIA Uzl 6L 3061l dl. s 306l otelr-dl AWl stou 21 a3 dal ol eteir-l qwidla 1se o1
CRITKERIETRN CTRAN

o ¢d, 6l 366Ul UMt UHIRAHE URll ¢RI,

® il 6i 300 6{UIRAL d3SIHL AR Visle sals YAl 38l
AL,

o ¢ oir 300l ulR(led dluHLq MUl

o 9 AU dluHIIHL dslad wRud €9 ?

® 510U AL ool WISl dlumi dHI @Rl 9, FUIR
A5 2Ll sootleAl wiRlld drumle il weuy .

e 5101l 391 G%L (heat)d MR AHIR 53 €9 FUIR A3E 2L GBI, ML sl <2l M2 Hsi-l-Al elandiq
a2l olAcl AFE 2L SAMHL UL 9.

uqlr-8 :

1) g4 A ?

o  AUSE Vi 510U 32 200, Wil

@) 4509 ?

®  USE Vil 5101 VUL 366UHL 60°C llUHLACY] UMt Ml Wil ¢4RL.

o ¢d, oln 300l UL 5 e9iutanoll aoulL u 4l €l.

e 10-15 [A[A2 ugdl oinl soouxeAl urRllAl diyHis Hiul.

o 9 U bid 366Ul WRllAl AlUHIA AHIL YeUHT 82 9 vRL ?
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® 5101 32Ul 300l ULR(led dluML 2l5g B2 €9 %UIR UFE DAL 36014l WSl dluMiA AIR 8e €9,

o [AouMi 820 3ol susl usalell d GuHLd ay eliMel 52 6 HI2 [QlouHl 831 UL A9l €5 Ul 6.

o sudl 20Ul AWEL GBHLAL HI2LHIRL, URAddH 52 9. M1 Glrlolisl odl 39l dRoll UL ARIHEIAS
Lol 9.

GrR:

GrR:

o asuell e 2uudl gea 2 raeuad usdiadd

walauon (laboratory)-it 21122 A sisez-i aruillzr W QA suetdl gLudl.

AUl (similarity) @ oln aHl-Hleul uldoll-4isdl sia-l Aol 21 93 Al oleo gl AL Sl €9,
olul 1AL 93 sAdl oteoy Fdl @AAML WIRL €A 9. oleoiel GlglRAL MRLHL HR5YIAL Uidoll €1l %l
IOl 1Y 19,

[aldtc (variety) : ualotano-AL 241l a3 10°C dl 110°C Yl diusi Hidl st 9. sulR dser-dl
auilex a3 35°Cel 42°C YHld drwsuqt wdl asi 9. ol wuil-Hledl diumit Huadl agas
YiuAalsd el el Sl 9. HALLAL ARHIHI2RML dluMi didl del Glef o UM U3 9 wUIR sl
2241422, dAlUHLA Al duid 2§ ueL Al a5 .

Gyl css 2 GuLrlL 2 s YgIAlAl 6l-61 BEL8RWL (example) LU,

Gl ales el Geleel : (1) AUMMAUH (2) dlvis (3) Al A9 GWIrAL 2dles el Geleel :
(1) w@llR2s (2) @lsd (3) 519101 AR B¥HLrAL 2Aclss uslall 9.

siunidl wloy [Aseu vie 30 vudl- aour yal.
Fill in the blank by selecting the appropriate option from the brackets.
(1) 5185 arg-l arueil 3 arzuyeil 1zl v1ed (Wusi, GWidest)

(2) Gsadl welle, diuHl- gLl HIYL asi 69,

(31523 a1z, uloteuoLL 2H1H1eR)

(3) ULl BL5H (unit) 9. (Aleua, uui{ler)
(4) Gw| A0 dHi Ly, g1 BWHL A 1Y 9.

(Gwalzedl, Gwiaensl)
(5) Elardl 21 S48 An2AL 21, gl LAl AV 9. AHALAL oLl 931 G A22e1]

Aeell oy 2. (Guufledd, Geael)

(6) Al 32Ul UL Sl qel 3ol susl AR\ almel 52 8. (qw?, il

b .

uloy A3sl ANl o Match the following.

GrR

(1) @Ml UL ua gslaledl dMA (1) (A) G-l
2)  eRUS Yad g5l AHA ) B) Rl
(3)  BleL 2L sUL udRalAl AHY 3) ©) [ean
@) Ad (eas)) Pl susl Ul A1 (4) (D) Rd
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5. [Qenousi wand susi sai osi susi atu? 2Ryl 20ud €9 ? e ? (aa)

5. [Rrunondl mgHi 2is N3 A 52l 28 52l A4 WAL AAAL 2L W2 UL ASA ?

Br: 34 5 uldol susiql avuHelal osl susl i oteRl vtadl e siuen Al AusHl viadl edl <l
A s il Al Sl A5 Sl AR UL A0l USRAHL A ol 2L aelHl etelRdl viadl ¢al ay
2R clB A5 oAU 9. 2 2R ALIRAL GHIAL AUS GlIReAL AldlaRel AL ALl 2w 9. ¥l ALl
§5 MO 0. HIe Rl asdHl 215 2131 Aol 5l 28 Sl aY, Uldoll drell Usal AL

6. Al 2uglani aiou umlga s :

(Gupaesl Ad, Goirandl Ad, Gefalzadl Ad)

7. ARH Al [QaRiHE 8l (home)Hl szl €laid U ude 91 sANHi 20d 9, 51”0 5... ol
2Ol AL ULl uFe 0L GWHL, MR Vol Hieg 52 €9 2l G3HIAL HI2LeIdL URldde 53 9. 1M Ml g
AWM, ALY 9 Vel £ S 9. HIZ AR AldlARRIAOU [ARcIRIHL 8RAHL egi<] glaid U gnal 3 ude 1
SAHL 29 69,

8. AL usHi-L et W2 ulRy, [Asey yrie 530 dHl sH vl

. Select the appropriate option for answering the following questions and write the correct order in
the box.

(1) A 30°C dwHiA 421ad 1 [@22 wellyi 50°C drusid 4Riag, 1 (@22 well GHami 2ud di - C]
2 [Ms1eLd dwHIAL (temperature) 524 23l ?

(A) 80°C (B) 50°C ¥l auIz uid 80°C 2l >ligg.
(C) 20°C (D) 30°C 4l 80°C -l a2
(2) 40°C AMMLA HRAAAL AIb{3HL 2UUA 40°C cdrumit dR1ddl WellHi geusaumi 2ud dl - C}

2 ulsumi 6w (heat)...
(A) dlvisl otoell wisll ds ded =9, (B) olnHidl visuel oo dee 29l Al
(C) wiellell divigel ALYl ds deed 29, (D) Girirll dlUHIAML a1zl 24l.

3) st (wood)-l s AHAIA 2S5 SUHL UHAHT 2ud O dl AnAHl ol O3l C]
(A) dles sl 631 «al. (B) GWMLAdA 5138 631 «3l.
(C) [Alz@ 51381 631 U4l. (D) 631 43l A&l
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(4) RS e s35ui Ay siu (diet) @onaani 2ud 9, s 3. - C]
(A) dioild a0y 53151 2516URIHL AL 52 €.
(B) el 53185 AUML 2AL5Ms @ldl 9.
(C) S1ay Wlal uumellzt dioy ¥l G Yalss €.
(D) RS1AY ¥l 5l diof uLS 59 AHIR UL .

: [ay ugfaiAl :

AL WBUAL gt HE qRY [dseu ue 53 dHl $H Quil.

Select the appropriate option for answering the following questions and write the correct order in
the box.

(1) 53wl (liquid) Gxuag--l d 2K wu & ? -
(A) well B) [zaa (C) WIRL (D) &4

) [ 2ua-l udl awssidl ugl sdi atiR 84l (cold) @l €9, s1w 5. -
(A) 2R clslel AviHR(121L GwHL yalss .
(B) 2RAl AUl Ansdl el 9 ouR dissil wudl ansdl idl l.
(C) 2R Alsslel vyt qH1 GwHLd ulad- 52 6.
(D) A Alssl-l Avmelul ol Meales .

3) NaA-uniefl sul uerd Gwidl Yarss (good conductor) il ? - C}
(A) M (B) dlvis (C) dioy (D) viey[H[Aun

UL

Uy gAML Q5201 $21. o Sort by appropriate group.
(510, Mg, wlzes, divis, dioy, Ald, v, AfRaN, sug, seieiy, G, i, ug)

Gy vass Gyl Yalss
SPL0, AIHG, wllRes, sug, w02, Gl Ul ug, o dlvig, dio], Ald, ved@HUH,

-\

ALY A5l Al o Match the following.

GuR

(1) ydustaell o ad well (€ (A) G¥den-l 2ld
(2) MEHL AV divizHl uel  (A) (B) GwLAye-(l <l
(3) Ot Uz y¥dll Al (tea) (B) (©) Geafalsel

A 2pdal Qe i) wRi 50X wieidl [Rauddl s:i.
Mark 'V’ ' the correct statements and cross 'X ' incorrect statements.

(1) AM3IAL o2-Auel 21 G-l Hedles (poor conductor) €. - C]
(2) GWIAL Medlss usldHil Bwid ssuell ded (conduction) A4 €. - D
(3) Geiel [Alsr@edl Lami His (medium) %330 2. - C]
(@) W uetdl 203w wruadl aud 9. - C]
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(5) ueldl (object)d dluHld HIYAL GIRUM2R dURAA 69, -

(6) yd-{l 2123l yeefl uR uust Yol Gl Aol 1A 9.

U0

5. QAL UsHlL s AsuHl s Qvil.
. Write the answer in one sentence of the following questions.

(1) G AW $S5-58 Nd wu & ?

2) RAL¥EL Daui autdi sui wa-l Guuaga-l Aadl Ry a9 ?

-

(3) wi[am y3diH2e s well (water)+l 3921 oRudl.

@) ¥l (soil) 211 eRun (sea)t uai-ll 48 GuiuRAl 56 Ndd 2ueud © ?

(5) wellHi Guie ag 58 Saddl wu ¢ ?

6. Nl v 2uul.
. Give the definition of following.

(1) Gl Ass @ % Uil Gl derd ANl 2 B3uell A1 9 d il GWHI-AL dlss 58 9.
) Gl v s ¢ ¥ uellMi G dles Asalddl ag el d usladid Gl vdlss 58 ©.
() AlHIA : S1SURL arg Al datuell 3 aRMuRlHL HisllA d usledd dluHid 58 9.

7. d$ldd-il 6i-of ‘i&l%ﬁ Quil. « Write two point difference of the following.

1) EEIENL] Gwulalse
o & yela Gwlasse] oY A ¥, o siSuRl uelel 2l {ld 2R AN AZ 9.
o GuuuReldl 2L dHi Hin #3760, o GouuuRl-{l 21 AdHi Henl o3 .
e Gel. dudl, ddl o Gel. 2isld well, ¢,
) Gruiril Yauss GrHiri Heass
o il UsiRL uslfHizll Gl uAw e il UsIR-AL UslafHi G Ul
il Al 6. flA-dla 2y .
o R+, Alel, veMMAUM 4912 Uig, o 51, 012, S99 AR Yell
GeuiL Yalest 9. Gl Hedles 6.
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¢))

GriR:

()

GrR:

(&)

GriR:

C))

GrR:

(0))

GrR:

()

GriR:

10.

1)

2

A2 A WAL -2 ASATHL AU, QWL
Answer the, following questions in one-two sentences.
Na45l A2 AL 51290 Gl 2 €9 ?

NARESHL GlAL dluHlA i eousl uiRlll 10 Geur scUHl 21 9. 211 8A] AR UAESHI sollel
Beurl 53 9. UL 86U 2YSs 88 sl Adl wdl dauHelz Al ar-L soRi S8l Glasid . 0l dldl
a0 lsoll 2 © 2 Nagsul eousl [HEBid 28 €.

618 (ice) A AMISIAL S6UMT W W2 AHAHT 204 8 ?

Aulsla Gl 2ld Yeales 9. ol o1Rew AHISIAAL 3oUHL AvAML U dl d elslR-L dldlargi]l a3l
soul vigdl dxs G uuweL ag Al 2l 68 23, Adl Al uRBUH 61s aloil AHA Yl Yo
Qo1+l & 9. A2l 615 AMISIEArAL S6UHL AvLAML 20 9.

guidl2- wtA el wa Avidl d Q1A A3 9. w w2 ?

yaldl ustel A4l HAdL A, 58 UAWL A1 . AHIHI241 ULl HigrAl WRLAL GUALL Ald 9. HI2 FUIR
2413{l2eAl Wil HlRioitl Wi AL A UL dd $8- HAWL AW © A A GR&A A 9. qdl
2311231 Wil Hloidl i AvidL d Gl A3 9.

[Ba 24 -]l ex(Ru yan-l [Bauni 2l asiad (difference) sl Wol €9 ?

[2a e(Hult gl wiell sl ol peudl aRH A4 9. 3l U+l 214 sal GUR drs alld 52 9. a-ll
oyl AYsrll S8 wal 4l 2 9. Hie [Ba MUl van-l [Bal Aygel w3l drs €l 9. ABAL
AHA Ayl vl oAl A1Ua 85 wadl AR sl 9. dell I u-ll 84l sl AYg ds AL 9.

2l Ul YEIRAR B UL

Write answer in detail to the following questions.
352 wuilez-dl Guaial sl avid ol 9l 511w (care) Al ?

(1) 2aH13l21l GUALoL Sl USAL 2 Usdl Yoy Fgelars slaviell dld Ao, (2) auRjUl USEl IRl R
35°C 2l 1A 9 5 A€l d %2il. (3) dHIZl Bl AHIdR WRl dad Av{lA il (4) aMiHlerA s1099-yds
AV, A d 515 560 el A 22NN dl 42l AB 9. (5) MR-l UL 2ALs AlHdl LB AR o]
A usal. disedl aMiHleAl Gualal sl auid 2edl sl adl A s,

ugldd aRu sl di 5¢ (size) well ad ¢ ?

uele QAL otddl 9. YA oUld 52 9. usld M sl 2921l dU[AGlAHL ARl WA ©.
AMAGIA anatel »Ruil a2d »idx a8 9. dl weldd se ad ©. 20l wuR g yeled daldl yeld viq
ALY AUH, SAHL A 69 AR dAlrAL 2424l dU[AGIAHL ARl 2 0 Al dild s afl 6.

AulAs 120 2udl auenal.

explain the scientific reason.

A oirlaal W Hig (metal)ti cuARUAL GuALL SAUML 204 €9, S 5., gl AR GMHIAL YAUss
elanedl el olell d pauell aRM i ©. 20l R4S FALL AUl Al © A Glofel Uy L9l A 9.
Hi2 AL oleladl {12 4lgel ALl GUaloL saMl vHd 6.

aRHle) aal [RH-2-L udRidl 9 oiruadl ASH, s18L 5... QA2 UdRL Gl ¥edles 8. ddl d udzL
A1 uAR Aal sl Al Al 3H UL ARH ALY 9 el UHIAHL S3L € 9. el A oL RiH-erl

YUl £9d oiradl S,
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(3)  61R%1 A (jute)rll SIAVUHL AGUHE U 89, S10 5... ARLAL S1UTL 31 GMIAL Hedles 9. 1l olelr-L
aldtaeldl oMl ezs Yl ugiadl Al i es Ylaradl Adl. 20l s w-L staouHl Al aio
AHY Yl Ylornaiel slaidl a5t €9, M2 65 AL SIAOUHL AMAHL U, 9.

Sd &+ ueldlMi Goud uuReL Gwidert (conduction)l dld 2 © d AUBA 2.

bl © gl AL, eisell, RuRe dw, w@xy

el g

2u4ld ¢
gl ulmal

T T

3{1@L~{1 wgeell [
A3l 2lsullil

<4+— Ruke awy

\

uglde tig-il 215 AL €.

flg el 240 A0 uR Hlwiell Heedl A0 vidR eisellil Al

flg L AU 2341 215 932 ollsdl.

oflog 932l il @A RURe @l 214 $3U.

AL 24Ul M AL U Akl 2issllzl sul sHHL v el 1Ay €9 d gl

e aasid s

MAAls : HigHl ABLAL HlRwotdl drsAL 931l s Hlo oy Adi Ylawdl . ¥l 2isellail sHa: 1A
Ul 6.

[Relu: figel AL B3, dent 214 9312l 831 D3l drs Al 8. UM, HidHl Golaes-l dd ol
UAWL ALY 69,

;o AUsAEL :
1. A2 28l vl gou yzl.
. Fill in the blank given below.
(1) uRl Al Al 24 2y 9.
(2) 8 YelHi G MR8l CTIREE] MU0l S U 9.
(3) arl uslalMi Gl uuRe Al A A 9.
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2. -l usHiL s Qul.
. Write the answer to the following questions.
(1) GwuasH 24 g ?

(2) G¥HIAL Yalss UgIAlAl UM Quil.

(3) Gl vt s gl sid 58 © ?

Sd & Ul ueldlMi Goud uuwL oAl dd A © d AlBid 5.

WAL = 2, ulRe ax, =, Brus, eaoll uglie 25 wresls sia-l 2o 4y wwellell

weldl oy usolde, wiell 3.

susld : o Aopt  ewtl uslul ol U
dlsAl.

o 2o [RURe @ g3 214 sl A3 $3U.
e dxd o Aol uweldi vielwm

4_ Q‘l N YN ~ .
3 uHoleAl -2 581 wAre{l wielld -l
il vl S,
VR wldte Aadls : wellml ool oAl selld U@l
e Aol GUR dzs A Gudl A ds A
Rulke dvy 6.
<« B (Rl = wiell Guumazedl Guirue-dl Adl 2y
UL €9,
:AsAE :
1. R 2l vudl ooun yai.
. Fill in the blank given below.
(1) ] vl G-l dd 2y w4y 9.
(2) W[y udoley] odal wielldl 39t Sl 6.

(3) dlsd ¥ Gy, 6.

2. A usAlL A Quil,
. Write the answer to the following questions.
(1) well 58 Ad Rru a9 ?

2) @A 21 eRarr vari-l @di Gxuuul 56 ad 2ueudl © ?

AsH - 3 Gl



3)  Gruouni Al GlRuSN 0L U s W H AU D ?

Gri: YA-oRMl a2l sal ¥ MM 21 sul R il AudlA 214 53 © el Gl 20l U sal
oY ol AL, 24 GlAL udd YR 2uddl A0l Ul eal &4 €l 9. W2 Gladalnd ot 3l el dLst
QUL 5l Y .

dq  : seals uetell »adl dl Sects uelal A HlN oM A © d UAHwY,.
el ¢ Ul Rladl un, @lad uRs:, wilkesHl saugl, ofls2
el oM el ame

ugld :
wugld : —— el A o 5 i ofls2 dl. dHl 2™
o ulefl &3l
rellze ~
o o Wladl U1, wulesl seudl,
. UWRd ¢ Rlad uRsx %al
- 22led uRsR ~ < N ~ o~
yeldl ool s3A due
oflsruiAdl aRH wellmi il
— ez Add 003 5 duel iseUy-l
93120 welldl olelr Q.
sl o L3l uMA olle vell wwell-l
olelR WAL 931U 2351 2
dMIZ Aelst kL.
S 2 | g | yerslfa QuRAAA Aq % g ollol 931 ARH
R g uidl siddl glu d | oua 9 ? €L/ -
1| ¥l uA flg Bl
2 | Wl CIEY Al
3| ¥ladg ulRks: flg, Bl
4 | wllesl saugl wWifzes -l
(Rela : gl Goidl Yates 9, 2dR wies vt dlsd Goilndl Hedlss 8.
: suAsAS ¢

1. 2 2uudl vud) oou yai.
. Fill in the blank given below.

(1) g G-l €.
(2) dlsg Gwldg €.
(3) 1M Wil detuHi 2laxl 21l el Sl dl dHi Bl izl GwL oflon €931

Y ygid 9.
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p B | DETRTERETIC SRR
. Write the answer to the following questions.
(1) Gy Hedrss velal suL - suL e ?

(2)  AUSHL AUAAL HigHL WAL 8-3¢ wlRs § assimidl oy 6, L He ?
Brr: wlR2s ¥ alsd 3 G 2dles © ddl RASHL duRdL gl Uistdl d=zd (slan) wilR2s 3 dlsimiel
oAl Sld dl d o1RH Ul AL, 12 U8 sttt Al al. ..

A, sies yel 2
$1| ueld B Guaiol
LA S/YAUSS

IR EY) 2ales (He) 64l A, 64l el A1RH A AWM RAvLAL HI2

2 | AH3LAL o-2ud wales (Me) Y U] @l U ALGalL Hie

3| dudl IEIIEE BURLS RABAL HI2

4 | YdUB susi 2ales (4e) ARl 3 &4l @@ Haqal w2
5 | daril el naes (e) ARl Ussal HI2 )
o sl AU Ul HAlsld dl 2 Al d8TH 2 HeTH AUl 59 A Assl s U 9 d il
o ug-siser waedl ulag uyil, uelluiidl adlrd A diuHid g Sl €9 d ikl
o allResl olieauidl Ay oAl
o  dlvisHl uldoll dal diel ABAL dl. ddl 215 931 U uldol s dleioll. sa anatdl el wdld u2

sLAoll 941 Al A0 dUNRNN FAdL Ad. 9 5110 60 9 7 dHIZ Aels Al

hY
SH &gl v

yeref yz Bwyoi] exzizen yulfeny [d9) sl os 8.

-~
X

2 | /dlder 281/aHi 284! us/e/)’g' dlydier oqeicliol) Melcol S2 €.
ya/)o/a)//m/g' eipH)[Hee Hal Sised] erHlHe2 el ME yiRy.

clly : ‘ 12150l 246 :

I)O'/fy&ﬂ/ dére 222ietel] Yaisia d) 2l cell dgd 2ol HETH diyiel S&
21a o155 sediHi 2H1d & A <E).
» ug-Sise2 urRlel] vidg uAl, yellenle 22l 2i3ioel diuHiel seq
slel & d aé. » W/I[22sdl] aledHiel] er#H)2l cald).
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ilks, Ay VA aR
Acids, Bases And Salt (Ris, Qo Jos 2ile2)

p 21 AAsHHI 2| 2Alvil] ? (Learning Outcomes) N
(A3 2 615 (Acids and Bases)

UYR(L lAULRAAL §ERdl sl (Natural Indicators around Us)

del$38L (Neutrilisation)

AL¥el wadHl dedlsel (Neutrilisation in Everyday Life)

(geim (JRiIcl-vidyY)all 2AGE) via GRARE

NYE china rose 29U A g salt Ale2
wiv il petals PR gdsiy decay RY;
YAS indicator Sl=3522 a2 neutral J2d
M3 blue S AR ocean 29l
aQ red 33 58l natural A4
A4 ant viv2 Qs ulBw chemical process  3Rsa WA
FUNAY pond s i[R3 ani acid rain AR 36
wig sugar AR ugi material RARna
deedlse neutralisation Qeadpat | g taste 22
39 colour 5ER sunvil test-tube 22290
el curd 53
udfalAl A1y 21 diRel
uglx-1 :
(1) & AdA ?
o e, URll, ecllEoL UuRPUARUA, SldR, Alojd, glaLl YT
@ % 5909 ? s weg  (snERM AR 5y
s AHAL eneeAl ulaR dad dHl Al well GHdld a-l s i e
o s ANl sne-ll Wl @d dHl Al uell GHdA d — N
. N $ dlopel 4 - 2§ [R3/d22
U2 dUlR 52U, e 8
o . o oo | ruRellelL R - 2§[R3/d22
o d odlleol YuPumBIuaL Y 8ueRl U @ddld d-l fox C
N RN - §RA/d22
ERCIRAN e : 8
. . . - | Bies ofis oAl @i 300 |65y
o UGS Vil o+l ueall st sl uidoll uglail fros : -
R . 61[501 AL3L dld 301 | 6l
dalz $3. : : C
. e . Yl uiell dld L | oy
o d ¢uell ugl U AL glavd 2y yst v [Raw |- -
N s 9 vl - [RL3/de
AV gAnY ! ST i
o N S - 21 [A3/cd2e
o ueRr{l Uzl U YL alarld, LY 4sdl d dlet 20 A1 69, & /
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&l%[?‘l-z :
1 g Ada?
o yerll sl uividlail, ofls2 Al suxoll, uell
@) 450y ?
o el -l Al wivtdlvil o1l 530, det ollsHL HSL. Al Algs 2RH well 24l
o (Mg 2lsls Ay uiRll 290 A o il Yl FHsd dx Al €l

1 ' ELCE oy Bl |
EEIEARITER _ il 391 |

alaB R0
2y, (e s1a) gl dldl v b 5
‘[‘[ N\ N by i aN @ ” \Q
logel 2 glel 4se | 8l el T T g
ALl dler eNICTYE] dlel
ARUH oy eNICYE dlel
stoil-l2 glagl
[a212 (21251) 3afadle | A3 opeell
Ui, glagl gl -
Yloid, glael gl -

o oyl sed A5 RIRS gla@A A2 oaiell (Fgel) A 6lds alaen dlal i el 8.
o i WA welldl yas dls Gualol 3.
o il yAsl uin dui siesHi saldd usladlHi Al dHig 2adlis ikl

udlr-3 @ 1A 2Ug sles ail 2 w1,

: ¢
54 Slamty U [Qeuaunt u2 wuR SUIEUA UR HUR gﬁ%f::ﬂ;;
1] e slSgsdlRs 2R | o3 [Aeuusl cld ol 9. - 831 el 39t
2 uesylRs iR &3 [AeHAYA dlg ol 69, - g1 dalefl 301
3| AU eSS e [eMAUA 43 ol 9, dle 3oL Y 8, dlel 301
4 UAUY eSS | dld [AeuusL ¢fF o . dle 300 2 8, dlel 21
5 5l@uH s1dasRUSs dlet (24Ut 643 ol 69, Ald LU Y. dlal 3ot

o Asndl aug 2udl gou 21 il usdadl

1. dslddril 6i-6} {-gal-'b{\l avil. » Write two points difference of the following.

A3 615
o d o421 [AeHAUAA @l ot-ld 6. o d dld [AeHuustd &3 oi-id 9.
o [ Wyl elss €U ©. o 6l gl Alsel ely 0.
o iz w2l €l 9. o qle dri-53dl Sld 9.
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2. aell 83g azdal Bdl 3 cudl-l S As s sl HHRAL gla O 3 dd R2uauad &3 ei-ud
9 d 5dl ugld uad © ?

Grir: 8y gl ¥l 5 cudlAl sl WS S glaARHl el AL 3L ols ugld w1 9. ddll d ag
[Q2M U 643 oi-ld €.

3. [GeHAuA didl sl 2ud 97 d-l Gualol s 8g e au 8 ?

(Aaa)

3. [Geua- glagHl 2ld gudl. 24 sl Gualol a8 ?

G [Aeuu i Aldsiedl waqami a9, [FRaled welul d-dl 90 2oyl $ld 9. d-dl Gualal 2ARi-
ALSosrtl glalel AstARlMl A5 dds iy 9.

4. 9 RiRd well iRRs, ASls, ar €ia 8, d 5§ Ad 154 s ?

Grr: [Rdled well dera uslad ¢ld . arusdl MRiled wellal ¢l 24 did [@eHauad goust. d oid
Ul [euausil U s o A2 a1l Adl.

5. dzedlseqdl ulEa Gersel ulda uuendl.

Grir: AR 2 A5y i azadl wEuL i deellsal R hvd 9. i UEUHL il 2s6{lea-{l ugla
Alel YA €9, U4 deeflsRedl ulEUl ex(Ha s 2n wisll s92l Ul 9. il AL GHL UL Hsd Al 6.
RS + 615 = &R + wisll + Gw
Gel. Ul ARYH eldZsuSs (NaOH) e slglselRs 1R (HC) el ddl dus deellsel a1y 9.
A2 A2 wiell i &1 (NaCl) Gaurt 21 €9,

6. -l vpuai (el M A wal 3 X uiei-l Raudl s:i.
o Mark 'v' the correct statements and cross ' X' incorrect statements.

(1) USELs A3 dlet [@eHAU=AA 643 (blue)etrlld 9. -

(2) AURUH SLH5A103 R [A2H-AUrAA Al (red) oi-ld €9, -

(4) 2R3 2 LS YAS el Yel 2L Y €9, -

(5) ASael wrorlell eid-l &u a1 . -

(3) AU SLOZSUSS i SlO-5elRs IR (8L 5l &R i wiell 1A 9. - C]

7. ekl 32R-2ui £ wellHl 2135 oliedl 8, uid d-l Gur- Auid Al A sl d-) wa ARRS, ASs
21 aRYsd Ulg 2uual 58 8 di d 58 Ad 20 YlRizia 2140 diRagl ?

B [AeHausi/sian sALl : el e3s dleua el el daldMl Al HblHL 4 dul disdl eRijad
[eHausta gousal. ¥ RS Ylg) el d did 201 salasl. oilds Ulg) edl d oL 391 safadl i dee
Ylgl ¢al a 5169 391 safasl el UM 2L d Yleusiia Aol diRasl.

8. RNAA olldui ik w2 ARARAAA e Al AS2, s1201 5... RN s34 2A1U81 %S
QY UHIRME SRS Gt 2 8. R ieiflil olollzdl (Bies 2iis HoARuL) Gy usla 8 8. i
Ar2lRls (C15o) RS w18 uBUL 530 Al e derelsal (Hisge) 53 9.

9. A (ant)u $urll ARAR W2 @A YR SANS T Gla8L @duaUHl 2Ud 89, SR8 5. R 4 53

QAR el A4 SIS iR A 2IRBS g sud A 8. 5AHISH, glael 2 B stellde uud &
6355 Ugla 814 B, M U A48 U Asll 2R g2 sl (deellsa) s@HIS alast aoudlat .

2’
%
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10.

11.

GrR:

12.

GrR:

13.

sReig, 2y well guadl (pond)Hi (A8t sl uddl d2a sd ASA, sR™ 5. SRV

-

iniel dlsodl sal > 2REBs ugld aad . dd AlA o wellul adasidami »ud dl di-l

~

R H9el dal uiellal oflon @dl-l -isl 53 9. 20l aui eilss ueladl GHLA dn dee s2g w3dl

-~

€.
S13iseilRs i3, AR USH-5MSS 2 wis (sugar)d a8 24 =@ gla8 2auaHi 2ud 9.
SNE-l YAs dls Gualal 530 sravi-ll vinw 56 Ad s ? uxAal.

ALULL L5 ULl 15 M, ARY, glaRi-l AR Ui Ul sne yAsHi G, ¥ glaei-l 0L dld 29 d ARuw
SLOALSAULOS 8. s U8 ARUH SlSFLsAL03AL dl3l 2lul ol glae GHIg. lRolle dUR 2dal i
glaRMl 2dLsl AUl ene YAs GHIL. (1) ¥ sldvl e YAsHL 0L dld 52 d viisd glavl sdl. 34 5 de
gl yeL 6i[ps usla eald 9. (2) ¥ glasl e YAsl DL ald 53g 2l d sLdgisdlRs RS 8ol 34 5
A ARUM el S5uL03 A del-sel uEuL eald ©.

MR [Q2HUUAR 25 g1aRHl $ousdl d M3 % 28 8. dl 20 g1l 56 Usldd eo ? unonal.

248 ARl 912 5 61505 il e gl ¢ [AeH Ul uBuL saladl Al d gl 6ilss uglad sl
©d % U [AeHAUAA glaRMl gotsdl d 6431 391, % 8 dl glavi-l ugla S vadl de ¢al.
DAnidl sy [Qauq ¢ ?

M) 2R 2 615 ol o1l o YASIHAL 9L uRaldd 53 9.

D) A 515 A5 RML 0L uRadA 20U dl d 6iSaHi 391 uRAdA 2tud Al

(1) 2 s YAs ASHHL uRdd 21U dl d 2R 291 WRaAdA 2uug, Al

AV) i3 2 ASHHL IoURadA YASU USIR U 2R AU 8D,

(A) (1), (ID), (III) 2= (IV)

B) (D)2 (IV)

(C) (II) i (1)

(D) {12 (IV)

: [a”u ugfiAl :

AL Uil st W AY [Asey uRie 530 d-l $H vl
Select the appropriate option for answering the following questions and write the correct order in
the box.

(1) az2:dlsm (neutralisation)d 2id $8 luoy Wol €9 ? -

.

(A) 2R3 21 6153 (B) R x4 &R (C) &R 2 wiell (D) &R - AP

@) ene iR M su0ll 244 AT | sAullMi GAAHT 2ud dl su-oHi sUL 39 A wagl ?
(A) ol snoflui ol 321 (B) 2ARugHL V1ol 1 Al die 391 - @
(C) RHL cld i 6iSRHUL 6431 (D) URsHL Aol via eidnui Yloil

3) %l atR AS[Bs Sy, dl d-u d2eflsel Wi g GHRUML »ud 97 - C]
(A) U3([As welal (B) 3{@uu 254153
(C) 3[EUH LS50S (D) $AHISxL glagl

AsH - 4 iRis, Ay ua 2R



@) BriesAdl 23 247 ASHUL 2150 s 391 (colour) 2l € ? -
(A) dld 21 L (B) R A el (C) daloll 2 3a1[AlA (D) 2oLl ¢4 deell

.

(5) NA-unidl sul yas (indicator) 2iRRs 3 ASMHS ugld s wa & ? - C}
A) [@A2R (B) il utell (C) sNeR (D) Al53 L3l

6) NA-unidl sur ueial »iRARSs usld qad © ? - C]
(A) slal, Yl well (B) (A1, w19y
(€) el, MoAAUH SLSZLsALNS (D) el, (a2

(7) AYEUA 2[R 2 ASHUL s ... wd ... L2 S ? - )
(A) 830 dalofl 24, dlell (B) dlal i 8L valell
(C) @ld i ¢4 (D) ML A dle

2. Siuuid)l oy [Asey urie s30 vudl- oroun yzi.
. Fill in the blank by selecting the appropriate option from the brackets.

(1) AR 4L Sl 8. (vuel, dqzu)

2) 6% dld [eHa uAR oirld . (043, dld)

3) Al GuAloL susl dlatl uelell oiriaciHl a9, (AR, AS)
@) R Wl Sl 0. (eles, Alsan)

(5) A5 sl el 0. (flsau, dlau)

(6) 8ULR A [ s 9. (gedl, sBiv)

(7) Brliesddla 2eiel Alaul wsllui 201 200 0. (el glBul)

3. w2l st U Al WKL
. Scratch the wrong word.

(1) 2R3 woedl Geult Al 26t vifRu [ AU uell 4 .

) [@erusta a3 [ s 1idl sy sacuml 2ud 9.

3) el (curd)Hi dAls2s [ SIS 2R el 9.

() udl-il 512 (glass) s s SN | AR 1S5S Gulol Ay .
(5) g (salt) L &u [ 6iS» .

(6) stel 212Rs [ 2i[Rds R lu .

4. uloy ogaui qoflse 42,
° Sort by appropriate group.
(loy, eora1, Qleunil AM3L, wis, 249, edl, Y, Aoy, 2umdl, vl 13L,HLE, dloHi s4)

il 6l B2
dlog, 919,24, dlandl AqlsL, AL, WS,
el 2l Aoy, vl et Hg
dlopi s¢
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A2 2udai [aanl () wri 5 X wieidl Rl s2i.
Mark 'V the correct statements and cross 'X ' incorrect statements.

(1) e, el 518 U1y 9.

2) ol % veldl RARSs 3 adRs el 9.

(3) 913l 2 RS 9.

(4) 619 AU VUL SlY 9.

(5) ol % &lRel glagl [@eHA U d2d (neutral) €14 €9.
(6) WSl 2o0e Hlg ¢R1 [AeMAusl dlet oiedld €9,

(7) &lRysd sl deellsvl sal ¥a usldlHl Gualol A .
ALY IS AL

Match the following.

GuR

(1) 23R8 »iRL (1) (A) 20104

) 3@un slSiisus:s () (B) 35 dil3

3) sils 2R 3) (©) 512l 33

(4) ARUH aSARUSE  (4) (D) SLL dumi
(5) alses vl (5) (E) il urellui
6) [Bdiesadl (6) (F) el

MIDETRVESIE TR ERCTES T CTIERCIT
Write the answer in one sentence of the following questions.
(1) eRut-w wellHi sul Yoo &R WAl 87

(2) 4edl YAl (natural indicator) sUL suL & ?

3) [AenauA-i Guaidt aual.

@) 2R3 247 A5 23 adl Aualds uBaL (chemical process)A g 58 97

HCl + NaOH— NaCl + H,O

(S3isaiRs  (Run  (0Ruw (wed)
R aSgisuss) saiss)

-\

(5) A 2uda A0 ulEa yol s

(6) SAHSHI 5y iy WY & ?

AsH - 4 iRis, Ay ua 2R



8. Al curvu 210l

. Give the definition of following.

A Y

(1) 2R3 : Jeals uslal ol RieHaustal die oiid £ ial velella 2R 5& 9.

@) 6in : Becls uslal dld [aeHausial 63 oirlld §. vl Ysiala Gy s& 8.

3) azdlsmn : AL A 69 a2, adl ALy UBAA delse 56 9.

9. Aslad-l oi-o @&lbﬁ avil. « Write two points difference of the following.

¢)) 5% &R

o w3l Alseu €ld 9. o o 3 Alseu eldl Adl.

o d ald [AeHAUaA 643 otrlld . o [AeHAUAL UR SIS R Adl 4l
) &R 2R3

® 27z VAL 5 U Sld 9. e 27T vl Sl 9.

o [AeuAusl U 519 2R adl AYl. o &2l (AU dle oi-ld 9.

10. DAL WAL G-ABL WSAHT FAU QUL
o Answer the, following questions in one-two sentences.
1) ad [@enauaHl suidl-u 2uaR A sies yel s

5 gl 2ARBs | ASs / e A [Qenauani ag ouRad-
1 uellal gy aze () LRad- ad -l

2 wellHi ellEeL wiBsR ASDss CRIENR R

3wl [aner 2[RARs LuRadA ag «ell.
4wl og sl azxe (auR) LRad- ag -l

-

) els anui dzdlsai ol Gersrel 2l uuenal.

Br: (1) AU = UL W84l SlOSAURS AR At Wadl GO A dl AL A 9. d-dl oaal 1 ula
2R3 o UR1adl Mes 245 Aol ada ¢lat, (2) SLAAL duimi 213 Al €ld ©. d-ll A R
5L UL SAHLOA A1l GuAlaL 53 ¢l o derellseil o ulbuL .

1. DA UsIAL YEIRAR FaAst Quil.

. Write answer in detail to the following questions.

@) 2ilas-aul (acid rain) 2124 g ? uxonal.

Grix: aARleHdl Ay ULUHL R MO A GRs-aul 58 9. AU slef AU, USSR AASALSE vin
AUSo AISASE (3 % sl Ugmsiiell Ysd 2id 9) Fal agsil A ¢l siellRs 1R, uesyRs
R A ASRS 2R3 otrld 9. iRzarl oigHioll wsiHl, AlAslRs MRS, adufazil 244wl
NELINICERL
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@) ¥l dzdlsw san suL ueialHl Gualol 531 as ?

Gri: wuiR oMl ay uidl ARARs 5 ay s Sld AR LAl 1o [Ast adl 4l R g+l ay wadl
ARRBS €l AU dul [FasarsH (A siisuds) ¥ @ss Ay (lauy alsSisuss) anaami »1d
8. % ol 6ilBs €l dl, aHi Flas el GRRAML 20d ©. F(As ueldl 2R Ysod 52 9 Al gl
gerdl Ad dee ot 9. i dd ol deellsal 53 asiy.

12.  AsulAs siRe 2l uHAdl.
. explain the scientific reason.

(1) 2AUE WRMAL W dHIH ueldl Aual AS2A ], s 5. e3s el gl gl usld aua o,
RS yelal el eles dal AR 1S d5AAS1RSE YRl 6L A5 © dal gell 6llds usla 4riddl yeled
UBL 2ALYBLL HIS sulsiRS €9, ddl ale uRvdAl M2 dMid Ysldl Atval Adut .

8d @ UG glasl ARA/EA0R) &R 9 d bBid 529,
Atnl 2 el [eHAus, o3 [@emaust, Jur, suqdl, suqolld

uglal : el el glael

sl : g ¥ ., % B

x N w3
\ T onod
S i

etlogell U —__

0
[

Qe o3
([GeHu uat ([@eHu A

— sunolle 22w

ugld :e 15 sullui dlog-dl 24 @l
o ©a Jul Hee A dle [A2HAUAL YR il glasld 21y, Aivil. g o1 510 3512 24l ?
o (usd Ugfrid o421 [AeHUUA Ui YrladH 532U
e il {ld el el alasi-l [euaust U Adl 2420 lHl.

0 . N .
AAAUST | gy | ugi/giaRl C:‘:? E’lﬂa?;: Q&? f:[f‘:f;; wi[A3/615 3/8U
1| dloedl -—- dld ot 9. R
2 | Aoy glaRl | 843 oA 9. -—- 61552
30| AL dler -—- dle oln 9. [
4 | Hlaid giaal — — dzze (aR)
5 ] wasl R — dlet o 9. [R3

AsH - 4 VRS, Ay va a1R




Rela : (1) URBS glavl ¢ [@eHAUs dld o-ld 9, Uid dld [@eMAUs U 595 A 5l
42l. (2) s glael dle [EeHuusta o3 oteld 9, uig ¢l [@eMaust U 569 AR Sl
42l. (3) dee glagll dld 5 oL [AeHAUsl U §9 AR Sl Al

: UASAL ¢
1. -0 2uudl vl ooun yai. oFill in the blanks given below.
(1) 2R3 24 Sl 6.
(2) 615 AlE Sy 9.
(3) % ueldl 21RARSs 3 olls <l A 5869,

2. R e e avil.
. Write the answer of the following questions.
1) [@enaua uidl sruqanl 2ud 9?

(2) BRAYAAHT AR GuadloL sui sui au © ?

(3) AR Guuio oeudl.

8d & RS A 69y a2 Adl deellsel (neutralisation)ll UEULAL U1 5.
Al syeollall, sunolld @, SuR

X . ~ N :
UelAl : 4g HCI, NaOH, [(Brliesadls alasl
2ugld :

He NaOH

[BiiesAdlrd glae

4t NaOH

sl glar —/

sunulle e

He HCI

el : 7 2491 : 1 [Gstiel MASTER 4D



ugld :

o s sundll dl. glux-l Heedl dui e elsdlRs A (HCI) Alal ¢l Yl GHRL.

o e slfAsAlRs A (HCHHL dld i 21 [AeHAUUR elvid s, AddlsH $3U.

o d suAulMl A-owl Ul Bellesdelld yASL Al 2 Gla8l Seldl. glalldl 1L Al 31 Al
€9 d Yil.

o ol suqo(lni e ARUH SlONRADS (NaOH), 4ldBl cl. glaBMl dle 2An ¢RL [@eHAUUR slvd
5. vaels s3U.

o o elisdlRs ARl suqlHi Jlur a3 He ARYH SLOASASAL glasld 215-215 Y GHRdL
AL A edladl Al

o 3 suAU(lML glarl 9L dalell i, Al R ay Al GURaALd 6l $3U.

o o il MYl dld A MR [H2HA- UUR elvid 52U, 2AdlsH 532,

vadlst 0 suAolML HAAL glaRi-l ¢4R1 3 dld [QeHAUL uR AR Adl Al

el derellsradl wlul ole 2R 5 ASHeL Rl Raldnl dee usldl Gaurt ay ©.

D sunsA)

DA 2uudl vudl oo yai.
Fill in the blanks given below.

(1) 2URARS glae 1AL [yt DU oAl €9,
(2) GLlRd, glast 1L [@eHAUAA 2ol oield €9,
3) deellsradl uBunl Belesdlqadg alaw q 54 2.

A2l UsHl s Quil.
Write the answer of the following questions.

(1) azedlse 224 g ?

@) 2R3HE 6L Ul Quil.

(3) SR 6l un @vil,

AsH - 4 iRis, Ay ua 2R



qlaR/ueld

EEEEEEREY

A2 2145 WHIRU F51R 2UUAL 6 AL 2UHR s1es el $

A [Qenaua

MRL [QeHaua

-

Q.

Al

ALE

o u2 adl AR w2 adl 2R
1 dlogl a1 — Al oi-ld 9. AR vl
2 Adudl R — dlet oi-ld 69, SRIRE vl
3 [aqaR — dle oi-ld 9. AR vl
4 el — Aled ol 69, SRIRE vl
5 umdl — dlet oi-ld 69, S RIRE v2l
6 Wig — — de S
7 M - Alet oirld 69, SRIRE vl
8 | vildldl AL | 43 otrld 9. - A55[3s dl
9  qlél — Ale ol 9. [ARs w2l [ oLl
10 sl 53 - dlet oirld 69, SRIRE vl
o Il AL (AR ofl-dl uglazil As A, Ay d-l Gua-l diu sU.
o AYLUL A eNeUAL oirldl dal d-fl dld 3 o2 [Aemau-l ud wvimell s30 a-l id s
o cld sioflopml 253t oM Wil el dedl R4 duR 53, 2L YAs a3 ARRs dul ks
glaRld ulasl s 2 dHIRL adisA-l iy 52U
SH Eclil ? | X
D[S A el [Qexiuy uz 2212 oél] S 8.
EnERYY [/ ey delR s2] AS ©.
3 | cuasi2Hl aezells2elel] iz [d2) we) €.
el : ‘ Bi121seil 246 :

-} dHI3] 2ARIUIRIel [dediRell ar¥lotel]l Us[A AS 51 dHY deil GuiRell
clitl SA. B VAEUN S BNEJUN Ofotid)l dall doll @id § ofR1 (ARl
218 Auie] 53 dell g s3.
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o alllas 53512 (Physical Change)
o 2UUMBLS 53512 (Chemical Change)

21 DAsHHI 2 2dlvil] ? (Learning Outcomes)

° C‘fl“i&i selq, (Rusting of Iron)

o 35[2515381 (Crystallization)

fgeim (JvRicl-vidlyY)all 2AGE) Via BRAREI

39 colour 542 W desert 32
CEETES changes Al el curd 5§
uui2l bubble noLd, Al milk [aes
Alss wood a3 s12 rust 12
ugl leaf As 2I¢] wheat «dle
SR D EY chemical sMsa éldlsm crystallization  [Breadzan
alvis iron 2 R mix RES)
ugl substance AGR2A pld flame 5au
gauA gate de CATEL] example WSHIUA
uqla-1:

1) 4 A ?

o 500, SR

Q) 453y ?

® 512101l 253l AR AIRA HLHL SIUL. o 835 253l 5312l AR A1y ¢l sl dl.

o il ol 2530l MlUdn(BA idl ol Awdl U wi-wl Adl dd ollsdl 3 ¥l d yoed
S19L01AL 2531l HUSIRHL dsAlA..
so1AL gsaizll 30l 3o sl 25l otrtidl asidl A2l i 519101l HIUHL F81 ALY 9.
S19L0LAL HIUML 32512 Adl Sladl 211 33512 ¢lifds 3812 ©.

D) AsH - 5 dlfcas id AAyIRACGIS S2SI1R)




uglx-2 :
1)
[ ]

2

uglx-5 :

9 Ada ?

sl M5l

9 5919 ?

AHIRL SeIR3HAL 6ASILEHL As I UR AL AlsL G481 G20 53U AUl ALsHL 2531 Hd(lA el
CEERN

e Axl Algs wiell el a-l gotgl (Uze) et

el ALl U141 aell @l. ed d Ystd wdl el dd AL Alsl oysiHiell s30el Als ot-icdl a5l 9L ?
15l st s31ell Als otrldl a5 9, Uuig del UMD SR 214 6.

21 32512 olllas 3812 0.

9 oA ?

512 5 wlResl e, os, HIg

9 599 ?

512 5 wtlRRseL AUl ALl 615 @l 2L oAl YL distil Y8l dlils eRs+ Ylaal €l.
8d dun 628 dal welld [BHBisieL (Freezing Mixture) 234, #2ual.

8d UL oAl 615 dal Hlsil Aol olsdl €l. duig vadls ikl

6125+l AcR2HL 5512 AL 9.

21 32512 olllas 38R ©.

9 oAl ?

PRV RRVITE|

9 5919 ?

25 WAHL Al WSl dde d-l Gsal.

dxe uielldl AuLdl urell arin Gur odl suuy ¢ ?

8d 21 Gsodl wsll-(l aziadl 235 Gu s AR Sx3@ a3 usdla ALl A1y Gly vl
Qraeitl 2iel quLdla gil.

9 el i wellAi i eudfl aldal weux ¢ ?

ARl il AuLdlal wisll-i 2lui ousil 1Al ey 9.

] WiRlll stazensi (Mandlell ary, aiyll ualdl) sz w1y ©.
2L el ¢ifds 3812 9.

(uaAdl : 247l oL A1A 514 5L AlakLA ed.)

(0))

2

g Ao ?

auls) Al s2ad, AL, Siu-ed

9 5309 ?

aquats) A4l sad-{l uZla Al a3 ussl, del oflo 93 AL A<l FUld YR UL
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A4 [AlR2 2Ue g2l

9] s2ad-l ul-L Gt 2L (colour)-Hi 51 3512 Ruu € ?

8 sl UZlHL 931 2al wdld uell g 53U

23l UMY Ul d 93l 3 vtadis s

g d- 2ol 518 33812 (changes) weud € ?

539l UZlH 21RH sl d dlet Ul ol 69,

s3adrl 931 eax{l sdldel £ sl d A3l AHAHL 53 stou o1l oA 9.
A1 18 sad-AL ToML uRaAd U @,

2L 32512 ¢llfds 3381 O,

uqli-6 :
(>0 naltd, @es g Realq 524,)
AlaAdl : otodl HeARMAL dIR 3 uZlA diol uya Yl AUl sl sURsIRS 9. ondl HoARiuMA
VI A oAdl [Qlas elasia 3L »udl.
1) g Ada ?
o ARMHAL diR 5 uZl, sia-uur, well Hlewedl, [@eHusil
@ 4 sAqY ?
o AU Il IR 5 gl @l drll 93l S1A-UUR 93 ULS 52U
o ¢d i 93 Hlslotdll sdld uR 43U,
(3) g4 A vy ?

o Wo[AUHAl ugl cordl ude usial olaal @l 9. FUR
Worlyu-l ugl iyel usl ool d U d-l Avid Hadls
53U

9J 2 Av WA R Fd) o Bunu © ?

o[yl uZl-l vt Hon[luu sl el A3 il seuy 9.
DL AV HA[AAH ALRUDS 9.

s 2L AL A uel B s, v Bl [@edx suldl s
9 e vy ?

$o[uH, LRSS 2 wielld s 6idms usla aid .
AARUH 2508 2 WLl A1 HOdL HA[QAUAH SLOZLSALDS
¥l AAdl Yeld ol 9.

o il 3351241 Adl usld Ml €laiel il 3512 AAUERS 3351 O,

uqa-7:
U ualtg [Ras g [Reelq s2d.)
1) 3 s ?
o siaurL vial Aadl ofls2, well, sluR e, He Ay Rs AR, dlvisl vlldl vtaar auiadl aldal
s+l ods.

ANsH - 5 Allds VA ARARARIS S2513)



@) 45909 ?

o sl wual 3 oflsl 3l su wiell ¢dA Al dvieiol s AHAl Slur w2 (Mirgy) Al dd
GlagL Gi-ldl.
o A Vi gLl ALl 2lul e AsYRSs RALAL GHRL. du-l sUL 3917, glasl Aal 1oL 69 ?
e glawl aleull o1 A1y 9,
® 2 glARHL AHAIZU AlgS alasl sl 5 oflsml vl L ) & 2
o ¢ olsl edl glarml dlvisl vildl 3 avyiadl aldoy
6&ls Ysl.
o RGOl 3L sels YHl AL il
8 glaRlell 301 %A, del A3l HIS A glaRl ALLL L
AU SIUR ues2 2 ACS2
e A glaRlHl 014 SIS 3812 Buy €97
o glaul aleullel dlen a1 oA 9.
o okl vilel 2aal 6ds o8I 518l dl. 9 dHi 51 uRad- sy ?
o vl Auldl ur s2uS otelL SBIL AAL MO 9. % SLURAL 6.
o il U[THL glaBirl 22U 53512 A4 9 L AAdl Yelel MOl 9. AL AAU[BLS 53512 9.
uqla-8 :
1) g A ?
o susiol (22z01), [@AL1R, Aol Al
@ 45047
o cezuoiil s AHAL wedl (AR dl. ddl vis AUl 6501 AL GHRL.
(3) 4 A Hy ?
e su-u{lMi uulel (bubble) GiAdlel A1 A dH% Ayl YUlel GUR Hlddl euid 69,
S) o A uslaui saledl Yoot 2L Ay dia et-lldal
yetlel flaul urellmiefl v s32.
. B o  Yrtirtl ~flaul uielld o a7
o0, LS o Ul 5160 AR At wielluiodl vaR
da 8 AR 3@ sotide oA ©. % YL welld
— (Ao + Ao e | B g8y erud ©.
- (cuantl &) |5 - CO, + Ca(OH)y;—s CaCO3 + HyO
= 4 2t well—| sm%ﬁ%s) —n%ﬁi»u) go%?){ Cuel)
_/ N/ o il UGRIML slgRi-lL 301D 3812 21U B dal ~idl
uelel HOL 9. il 53512 AAIUMRLS 53R O,
el : 7 2491 : 1 [Gstiel MASTER @D



ugla-9 :

20 ugla [Riesdl sl o 524l

Al @ 1o de AegyRs RS A, well Gsiadl sl Avil.,

1) g4 A ?

o oflsz, uisll, He AEYRS A, SlUR UGl waR

@) 94 s3g ?

o oflsaul A5 su wRll dade ddi He AsyRs AL ALl Zlul -tvil. weelld 214 531

o R Bsual-dl A3id Al AR A N SIUR AS2HAl Ulds GHAL AN 2 AL AL Add sdlddl

L.

o oyl Yyl Adl Wiz ol A ad Yl dul uias
Alvidle Alg, Avil.
sd glast duofl dl. d- &4 uial el.
BUIL d & Uid, Sld IR de AS% UL sedl eg Al
23l AU, GlLE glaglal gl
Ulotetl Al g evild 6.
Ulsteil d@3 Uz ucdenl 2624 Lui . wkd
8[2slsraml Adl el oiddl Adl, uid ueteld dudsl slaRidl e @3u Hodl asi 9. 2L 581
Ul 3512 9.

o ssull e auudl eu 2 rauad usdiad

1. Uiy ol adflsw s2i.

. Sort by appropriate group.
(ustarizansl, wellMi viz »iouadl, siaxd wmoid, Hlad dload, syl gsia 2l
uldofl ugl eieladl, vilrlsd uag.)

SIUR AeB2

Qlds s8R Auuldls $812
wiellni wis tiouadl, Hlag ylowg, sieyFHume UsLAAND, Sl Aol Wil g
253t Al widofl ugl oi-tiadl

2. A 2uuai Qa0 ) wri 53X viteidl [Raudl 520 viler ausal Yl @uil. Mark V7' the correct
statements and cross X 'incorrect statements. correct the incorrect sentences.

(1) Als3l (wood)rl 2531 53l 2 RAALABLS 5351 9. - D
=S
2) el (leaf)Mizll viidR otdd i ¢lilds 3851 © - [j
=S
(3) Alsell alon Azlad dlvisdl WUl U sael st dldl -l - [j

& 1

AsH - 5 dlfcas id AAyIRACGIS S2SI1R)



GrR:

GriR:

GriR:

GrR:

(4) dlvis 244 512 15 o ueld 9. - C]
=
(5) AN, s1R8L B AAURLS 33512 2l - C]
=

slunidl alou [Qseu v 531 vudl- ooun yai.

Fill in the blank by selecting the appropriate option from the brackets.

(1) stof+t 381553 el flaal wielluiall v sl o €9, ¥l d g[Bul 2oL Y 9.
(CaC03, CaOH)

(2) vlaltl A3l AAURS (chemical) M 9.
(iRun siellae, ARuM cuasieliae)
3) e Ul3ul gL dlvis (iron)H sl2
el sl s 6. (aflflor, SleartSRan, Brecdlsat)
@) olllas 3351341 1=t ueld (substance) dpellMl 32512 2y 9. (ellfas, A1)
(5) 3351330 Aal uelef oin . (elifs, wulbLs)

R dlopt 20l 18 G501 A HNQAHE 2Ud 89, AR UUL2L AG UY Yo AL B, 2L SUL USIRL
§51R 0, d AHoAdl.

IR eloptl 41l 12 GUlE0L AL Ml a9 AR AAABS UEUL S s16{ JASALSS Ay, GUi~
AU el Adl Yele ot §. HI2 2L 3512 AAUMS 3351 O,

Hordld anouddl dui tid $2512 Adl HOL O d 20vUdl dAL SIS 2-d BELSWL VUL FH i §81R
Al AL S ?

oI Hletotdl A3l © R ellfas 2t AUUBLS oid 35120 ALY 9.

1) Qlas $s1:: Hlad Yang

@) Al 551 Hled wd1d. 210 Geleel dd ddul dl vils Ae sl UBAHE ueL oiq
33512 Adl HA 9.

(1) AUAs $$I1R : vilAs, ALl 253140 [Aeiio- ad.

@) AAAMS 5812 1 ViU ALIHL WA 2.

Auonal : el ong 2 bl 3812 6.

el v ghuidl ot 9. 24 ol el el Ala@sdlpil 41 9. Asa1R gaHiel edl ol ad usdl uisg g
ol asd, Al 20 guniedll otrdl Adl usled edl 2 gl sl 2edl deiud v1d 9. qoll guHizdl el 2
AU UlEULAL 5161 o1 9 2l el aud 2L ANABLS 53512 9.

AHoAAL : QLSS ARNAG, 2 S1ud A EL YEL SRS O,

ASI ANUAg: UYL AR ALl AUl ol U G vt Av Uel A B, ¢d 2L WEAHL
vl ueg arsd wadl astg Al 2uM Al 5180 AANABRS 581 9. A S FUR ALsdi
sidlal R 5155 Adl uetel oddl 2l. s5d dlssmi ellfas 32512 U0 d il 2530ML R Wi 9.
Hie 56l A5 5 dlsil AO-oUAg A sIUd, VL YEL YL FSIRL 9.

élel : 7 29 : 1 [@Astict MASTER 49



GrR:

GriR:

10.

GrR:

11.

12.

siuR ucseuidl 2525 5§ Ad o1 © ? Quiq s,

(1) 25 oflsz dl. (2) ddl 25 su well dl. (3) ed dHl He Ay Rs Rl i 2lul GURL. (4) »u
(Rged o2 U 24 53U, uR Glsnaldl a3xild dd AU dHl S1UR AS2dl UldiR GHRdAL Al -
ofl5 salddl 8L, (5) wul Yl Adl wierz AUl A 9% Al Yl dHl wasR Al A1, v, (6) ¢d
glagta Aol @l. (7) det &5 udl el. (8) il e[l d= etlasll A&l (9) Al AHY olle ofls2eL dlha
SIUR uSesl 8[251 Al Haal.

AU ¢ dlvisHl a1 (gate)d 201 scudl d- s12 At srudl s 6.

el Al A% A gdl (GURUYA) WA dlvizdl Aldl AU A AR dlvisa 512 ddl ©, uid %A
dlvisel arq ¥ dlvisHl sraio otalel dlvigel A1l Aus sal w12 Adl A2ll. U s s12 duotall
oLl sy .

2 (desert) [AraiRi-l e aygd2i-l 2uawA-l [RARIAL dlvizHl argid auR s12 qwel o, awe ?
el Al HY A sal (UEFU%) WA dlvisl Al AUS Al AR clvizd 12 @ldl 9. A4g (Bl
UL ALHL SaAlML 0U[ARARAL Ul sl Mol o ay Hy Sld 9. U4 UG-l UBHL 81-[ArcllReAL
UBal 5l dlvise s12 B3uedl @lotdl «ell.

U HIZ LPG Il GualdL M 214 €9, gl 12 Yarti-l 55121 ol ol :

(@) Rla-34i d guazusl §iu 8. t8IR -lsndl d Sl oA 9,

(IT) 24 3l AN 89, AL FSIRL HIG W2 54 O ?

(A) 3812 (1) AAUDBS 3351 9. (B) 33512 (II) AANIU[RLS 33512 €.

(0)33512 (I), (II) 6l AAAMBS 33512 9. (D) oiAHiell 2isuel AAUMBS 5351 ]

(@) AR sis2Rul FAs 2ewy ueiald [Qaen 530 cualdiA siid €. (1) dal 20 U AL 8. 21
$5130 W2 WY 53 O ?

(A) 3351 (I) AAAMS 3351 9. (B) 33512 (1) AAU[BS 5512 9.

(C) 33512 (1) 2 (1) ol AU 33512 9. D)eiAnil 2isuel AR 33512 Yl

: [a2y ugRiAl :

AL WL geust Wi Y [Asey urie 53 d-l $H Qvil.
Select the appropriate option for answering the following questions and write correct order in the
box.

(1) AW $28120 (chemical changes)Hi... - C]
(A) Hl2L 32 GleEld €9, (B) HIoL AlUHLAHL 3512 21 €9,
(C) A Beurt Y 9. (D) U dHIH 5512 ALY .

@) &4 (milk)uig edl (curd) vitan w2 DA-unid 53 w2 S ? . C]
(1) uglHil 24 8 o 9. (1) 321 olecld €.
(1) RAULE GLEEld, 9. AV) 21 Gazldl sty ddl 3351 YL,
(A) (1) 24 (ID) (B) (1) 1L (III)
(C) (D), (IIT) A+t (IV) (D) (I) 2+ (IV) ) C]

3) NA-unmigdl sul AuuBs 53512 O ?
(A) dlRl¥e 2H2Md (B) ALs®MI® i4dl  (C) 594 slug, (D) wll Gsag

ANsH - 5 Allds VA ARARARIS S2513)



(4) Vs HRR AlvidL HOd12A 321 53 69, S1RM 5. _ C]

(A) s12 gl srdl asu. (B) el craudl asia.
(C) ¥e dldl d Hle (D) drll U 4o L AaH dl

(5) dAcd-udria-dl uzumi.............. Al 3l AglacuHi »ud ¢ ? - [j
(A) dlvis B) Als ©) AYBAuH (D) sluR

2. Siuuidl wioy [Asey uie s30 vudl- oroun yai.
. Fill in the blank by selecting the appropriate option from the brackets.

-~

(1) visd glagl oielad 2 53512 (changes) ©. (ruu@s, ciilds)

(2) 4G (wheat)l sleuHizfl ez oidladl »i 581 9. (alllas, AAu1ulLs)

3. oy Asl Al
Match the following.

BrR

(1) divis uz oflsl el 2z1adl (1) (A) it Al wislld g0y o-id
(2) s, 610139, 2) B) ®ilas 38R
(3) sl6 USRS (€) (C) sl2
(4) 0 2150153 4) (D) AU 3512
(5) wwsllui g oag (5) (E) darsiam
4. DA usHiAL A5 ASAHL B Quil.
. Write the answer in one sentence of the following questions.

(1) dlvidd s21d 24 suusIR (type)-il 52512 2l asy ?

) wd4sm (crystallization) A 521 SR $81R 8 ?

(3) SluAS2 A divis M2 (mix) A4S sulL 3oL 200 © ?

@) WAl vAlA gal (air)Hi avuadi sa1 2l odid (flame)dl ANl € ?

5. -l usflsel yel s

. Complete the following equations
i Mg + 0 — MgO 2) MgO + H)O —— Mg(OH),
D @oABem)  (@ilGuerm) QERIED (Rolian (wel) (WoARwn
2iAS3) 25N 3) Q1S5S 3)
CuSO4 + Fe —>FeSO4 + Cu COy + Ca(OH);—>CaCO3 + HyO
(3) N 2 3 9 2 o (4) c by 3
(SluR ucse)  (2nasd) (vuud ucd2) (siuR) (s1044 Sy (3leam (wel)

JUSAS3) S gsMG3)  swdA2)

el : 7 2491 : 1 [Gstiel MASTER D))



(5) Fe + \02 + HyO—> Fey0O3
(Qlvis)  (AUl5ae) (wel)  (2ua-d 2isus3)

6. Ul cxtvur 2uul.

. Give the definition of following.
(1) MUlds 5851 @ Bidl 3512 3 FHi usld-L ofilds ARl 3512 2l dl dd Gllds 351 58 ©.
2) AAWDNS 512 : ¥ 35141 218 2444l 35 53l AY, Al Uelall ot €9 dal 3351 AAAMBLS 33512 56 9.
(3) A divis U wud ()l ot agiaai-{l Fui ded-udiad ¢ ©.

7. A AL RAIAL G- ASUHE FAU QUL
o Answer the, following questions in one-two sentences.
(1)  ROEdu Rladl s agail 56 56 97 dA s atdl ll, e ?

BriR: dlvisHl slof siMum, [Asa 2 Holedly wdl gl Hadla R94aA Kld oldldalil id 9. % &R
Ul Fstg old . 9l dn sl ddldl el

@) AU 32812 2Hed g ? GeleW (example) UL,

Bri: % 35IRML 25 AL 3Us Sl Ay Adl usladl oA © ddl 3511 AAAMBLS 32512 56 9. Gel. FoARUHHAL
ugld olag, slail, dlsg 5 uissid eest, dlvizd said adl AAURS 53512 9.

N Q13 2l 22dl Yoo AL - A Gersul avil,
1) BGaadl asia da Ailds 5w : 2) BGaadl « asiu da Ailds 58612 ¢
BEL (1) UuRd, alg (2) oirsd, dlaag,. (1) $RL9AL 2531 $4L. (2) Sl ded.

(3) et 014 5. (4) R01RL 83l golladl.| (3) dlsd A8g

AHIZL AU Al 5381 ULEL oAl i a2ls $2.

: ]
o s2sdl-l 2825 oAl
o 33512 i Al winAl 190 Al
o dHIAL [AdRML AL ondll dils auldl dael usil Muledl ool s, dul Ras/adl %
i AL 54 881 g UEURL Bl 52 €9 st 2l Wi 7 sl 2l 53U
$H &l v, ?|X

1 | 212112815 249l @Gillds sasi2a G2 2ld A1l s €9,
2AHIYCI 2AHIRIYIRE elcl S2512) Ulene si2eid] 2l s2] 2s 8.
3 | 2rualCis s HiE 20e 2Hls2e1 dul .

el : ‘ ’ Bi121seil 246] :

ugf—ﬁaﬁ N » a#i2] 2RI edl sesiRlel] AIE] dietid) A dollsael s2).

» SesSlol 25125 o). » S25i2 2Ha) defl uigmeil S12eN) oNEl).
(52 ANsH - 5 Allds VA ARARARIS S2513)




AYAHI o
Respiration In Organisms (3R32Ac1 o1 2AM[c15321)

v AsHAi 2j 2Alvil] ? (Learning Outcomes) N

o UYL A AL Hie 53 ¢l ? (Why do We Respire ?)

® ARA2%99UA (Breathing)

o 8 A 5l Jld dad¥ ¢lal ? (How do We Breathe ?)

o UBl B9 eARAULA g AR siély ¢ll ? (What do We Breathe Out ?)

o =y ellaAmi ’&Rfl%f)\quﬂ (L. (Breathing in Other Animals)

o ue(lui %u%imgqt%t. (Breathing Under Water)

L ® 9, Ay A 53 69 7 (Do Plants Also Respire ?) )
(@i (vRicl-vidyY)all 2AGE) vial GrARE
ARSI nostril Adle CER) lungs o,
sy cell Ad G281 chest cavity A2 344
(s energy 22 el fish EX]]
¢9\s sneeze -l a-uld plants Wi
ALsMRUY snail 04 a1l skin R
del cockroach S5 BAgued diaphragm SWULSIH
$Ud exercise R EEE TR AU respiration JaflRaq
2UAER breathing rate oll[8o 22 NS aerobic 2310018
B9, exhalation B 5WIGAA VNS anaerobic 210BLs
usldeaNR  photosynthesis  sizif@-alRa alsw equation $ 591
2351 frog 519, 2AA9UA breathing ek
ud[tAll AHY A dIReL

ugla-1:

(RuaAd) : 24 ugft dHil Rasl 2uv {13 s0).

(1) Y 534 ?

® MR AUSIRL (nostril) it ML A2t Id olt 530 viA wl3ulo il

¥ 2Ll AHYU Usdl 9 wAretal 9L ?

AASIRL 2 HL el L oif sUAL 2130 AHY 6l AILOUMEL el A ALY 9.

ULL ALSL AHY % A US| wslot el o
%

aloil A Yl A9 [l odl asid Al @

ol s Aeuldl-l oidl dlel ay sadl o
d L. dHIRL 2A9dlsAlL Y SlesHl s

elzel : 7 29 : 1 [Asiidl MASTER



ugla-2 :
(1) % 5304 ?
o HIRL AAAER ARl Aval/ AlHe Ul e uedl, el Ul i sueldl Rafasi il
AMIRL AAdlsl 1AL S1esHl kL.

2 €R

Sz Z|C&FT|gFT L
ZE|Z|E3F|23F 3G

E+ 53| S8 |3 3 3
% =PFI=2PS | 3E ArRel ¢ AUl dlsan auiridl alsadl wz3Ruid Gledl
Qlfil 17| 21 23 16 ald 2 o [ odell wsdl W A 9. %ol ay
g (18| 20 22 17 LS SML (cells) Yl weiad 8.
Adld {18 | 22 25 17 o aulR UBUY viiAUSL e 33Ul orld B i,
laAs| 16| 21 24 15 ag st Yo A B
Wd  [15] 20 26 15

ugla-3 :

(1) % 39 ?

o {12 2l duslani eax el @lsd gl adl el %el
ugfxll ealdd 6.

o 9 il sdl wsal 35S ualdl wAre: Al ol A 56
Ua[tHl e Al ay el ?

o -l RAMQUL HaAe Al 9l €l 9. wuR [Furel
a3alfl UglHHl MAAER AY Sl 9. 31 5 2 Ul auR
w5t (energy)-l o33 Ul ©.

uglti-4 : il Hu Al
(1 9459 ? AWl | A | B9 | uu
o 5 G A al. Huuglell dmdl il Wil | efRu eHun | dstad

. NS N WL 51 48 3

o ud A 9L MU Al 2 dHIRL AUl -

Heol 59 55 4

[Qas 58 54 4

AR 50 48 2

Uld 52 55 3

H%R‘l-s :
1) g Ada ?
o suAullpaiu/wizesl olied, Yid, alavt, wiesl .
@) 4 s3ly ?
o 5 yddll, Alvull sAAUll A2l S 2Ual wiResHl olied dl.

ASH - 6 AYAHI UAal




e Al olrildg Al glavl su-ollui dl.
o s wiResl Adll, aiseinl [vgniell el Ad Al 5 d el wellui ot
o d d Aull glrl s AHY YAl 55 HIRL.

o 9 Yttt well-u evuani 5§ 52 @l 97 el
-yl wiell glhan o1 @udl .

dlReL :
AR GAUAUHL slofsdlsULSS Ay oslR S el ¥ il glasd
g[8y oud 6. Arilg
w1l

GrR:

GrR:

GrR:

GrR:

o ssull e auudl eu 2 rauad usdiad

16 HAdIR €13 uurd sul ugl wH-adl atn? 2 Glsl A dan |id 8, L we ?

Al el eal p3uell elzdld, Sld 9. paudl €lzdl |2 alA an alsadl #32 W 9. auir
w5 Aaadl R viils (g510) Al 20 dlzal asiR w5l 932 U3 9. S auiR Hi[EuoxAl ol
YR uisal qriR ossuell I saL U3 9. UH 16 AR €l AR sul ul iR v Gl
Adl Hi €9,

NS AU A VNS A AL AHLLAL A [Fidl geual.

AHIAL : RS il 125 AU 2 oA WIRISL 2120 dldl alsd Gausl sl 2d 9. 2L auid
oAUl s16{e ULSALDS Bl ALY 9.

[l = 218 et 25U cloFlul Al 9, U 21208 Ut USR] et dlul a9,

QHIR YSEU 5 YU HIAL A AAHL AN dl 15 (sneeze) 2d €9, W HIR?

L dladl goanoll earmi gHISL, AR, ol w58l a9l €ld 9. 2ldl edl RSl SleHl YR
1A 69 AR drll AHL HUS e 9. sRllalR i A2 Uil uAIR A ARs1-slenizll uuIR A5 04 6.
Ul 219101 %l o iARLeIHL AFUL UR 9. WRRUH AR S5 2419 9.

A, B o C 2R el O, A8lu suollul 3 cuorg well mg 6. sa-ll A | dlsnoua (snail) Yol
89, suvll B Wi wdla aruld auid 8 24 sqqll ¢ ui ausnouny, ydlu aquld siqd aud 9. dl 59
su-ulul siesisS s Algdl atul 9l ?

sl A |l COp < ML dlell ay Al HaEl. s1R8L 5 sl A i dlsnoUd . d A BUl Coy
Gaurt 52 89, % su-oll A di ¢l wiellHi 200000 glawt A3 e 9. syl B 1i aduld 9. dl u-
BIRL Y5 UAAL COy d-ll o usiaisdue-l Buimi qulsl. 2412l su-oll B 4i dlell 24190 Coy alagl a3U
s, sl C ML NsnoUY A aqduld ol . Ul dHD USURUA GIRL Ysd A COy <l Gudlol
aeufal usta-dsanal Baui auial. el sl C 1 olsnoud Gt 534 COy Sl 219l &4,

el : 7 2491 : 1 [Gstiel MASTER (5



5. AR UsiAL gus M 4Ry [Aseu uRie $3) d-l $H avil.

. Select the appropriate option for answering the following questions and write the correct order
in the box.
(1) del (cockroach) sul {91 gL Hu- 53 €9 ? - [j
(A) 353 (B) R4 (C) *IA3A (D) <l
(2) MIR 5 (exercise) EARALL UL UYL VALS AU 6 5100 5 dMi ... a - C]
Al U & ?
(A) slo{ USRS (B) Alses i3 (C) lesleled (D) well

(3) S8 AU aUs S 2ugH- viq0140 UAAER (breathing rate) 324l €iu ¢ ?-
A) 9-12 uld MRz B) 15-18 uld MlHe () 21-24 uld [MlH2 (D) 30-33 Uld [l+e

(4) B9l (exhalation) [3u1 €(Rat winvflil..... _ C]
(A) GUR dRs AU 6. B) A ds uu ©.
(C) GlelR dR$ AU 69, (D) 518 & sad-ude el

6. Y sl ANl o Match the following.

GrR

(1) dlze (1) (A) [y
(2) Ggru2d 2) (B) %S (les12)
3) a4 (3) (C) viesieled
(4) el ) (D) Gl
(5) Huesell (5) (E) &
(6) w3sl (6) (F) 351 2 20144l
(G) #lnoll
7. A3 2udal Qa8 0 vl 3 Xvieidl Rl s,
. Mark 'V’' the correct statements and cross ' X ' incorrect statements.

(1) AR 5AA Sl AHA A[saAAl ue: HlHl UL €9, -
(2)  aulaMi uslAsANEL (photosynthesis) Hizl [Ba, wUIR e HIPL AA % AU Y. -
(3) &35l (frog)Hi cal il $5uL ol glL AAAGUL A1 9. -

4)  HodlpMl A HI2 3541 (lungs) €ld 9. -

(5) e Adldl (Bul e(HulA GRud8Le (chest cavity) s B 9. -

8. Nl ARAHUL WA iAW VAU DA UAdAL QdldL ALEL LguAAL 6. 1 Asel siduRL [RauHi
SIS A3 O - Guz, 1A 5 Al uaL SIS A5 8. dHIRL AAAAAL QAL H{AW AsE AL

(1) SlesHl gaul Al (6) MM A AL

) Gl Bug-cuy 514, (7)  owuiell HUusl A 9L St d.
(3)  GRUSIAL AA 209d YL (8) 215 AoARs UWA.

@) uelHl quidl vz 2A1de i el 9)  -oll 4Rlag s wwa.

(5)  Slesimi Al oiq oot »uaal (.
AsH - 6 AYAHI Uol




STVIMI P TLTUTN T 6T 9.  yddlest Wl wd wilBuxqn Q- as
5 Y

el zle ol wixIn1lt N 9, 3LQ'>.l 3...\ | i

(A) 5 Km $dl a4 GRS Uz gal gldl «dl.
R MA T I D O T C . < -

(B) Al Guaes Ayl Hisll wHlAAl vl 2418l
I YR X Y M S R A N

Sl 9.

BRHT ANTAY (€) Al ddd st ol Ul Al s
S, T/ P/ T BI/Z R CIE ARvUHEME Bl Sl 9.
M T A MT S I H A (D) udd U iy ol gl el iyl ol
S I R A C L E 8 AUAHR(HL auz Sl 6.
N ED K J N AT

: [a2u ugRi :

AL Ui gt e Aoy [Asey e s30 d-l 54 vl
Select the appropriate option for answering the following questions and write the correct order in
the box.

(1) A2l Guuldl A+ 24 ofluR siiadl s5e0ui wa 9, sk ... - C]
(A) RS AU e(MULA i[5A ot €9

Y N\

(B) 21225 A s(HUL vlesield ol 19,

I N

(C) AR5 AU e(HULA 2[5 oi-La €9,
(D) RS AU L[HAUA CO, orlld 69,

2) We9dl (fish) HARSI2 gIRL MU 53 © Fui at1d nuRmi a2l §iu 8. - [:]
Aaste Hedld 59 dd uee $3 97
(A) saAlMl el vil[suot & 9. (B) WS{lHi 2A0AL HL[sH & 9.
(C) iRl el WSl AN, 9. (D) At veleA uellml i3 .

Stauigdl Loy [Aseu uzie 531 vuell ou yzi.
Fill in the blank by selecting the appropriate option from the brackets.

(1) a2l (plants) gll ol el R A0 B, (o1, usis)

(2) uslui iyl »uu-4 A ueell . (uysdl, sdidisla)

(3) OURUL 1 2351+l 2144 (skin) Gl 9. (eIl 2 dlfl, 34l 244 we1d)
(4) BAeued (diaphragm) s9idl-l Yiawemi 13l Ag €l 9. (Gur-l, (A1)

(5) G9UUMI Ay otelR s (AR, s16{31L54153)

A2 2uuai (sl 0 (Rl 5 X vieil Reuddl s2i.
Mark 'V ' the correct statements and cross ' X ' incorrect statements.
(1) @a%gill AL+l {12l AUl U 2N SlY 9. - [j

2) GagaRil saHi stel ALsASed MHIL IR (breath)ll gatid] sllRISRUSS sl AU S 8. - C]
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4. A s S s B Quil.
. Write the answer in one sentence of the following questions.
(1) %% - (aerobic respiration)i Adi 945l [Qvisad uslsa @i,

(2) 1RS AU (anaerobic respiration) L Adl g sin-L [Avigd, udlsw avuil.

@3) Qi AAUZuogAl A1 Ui A 2g st [Quis uls81 (equation) dvil.

(4) a4R sud sl A €2 s2a cu/le ydl adl as © ?

(5) Geocua-ll ganui 2ilFu-i- urel sean 251 i us ?

5. Al v auil.
. Give the definition of following.

(1) NS AU 2 2SRl SllMl Adl AAAA RS A 58 9.

Y DY

(2) B9 : 516{+ ULSALGIY 5 el AR AR s1ea-{l (Bull BA9aIA (Exhalation) 58 €.

N

(3) AUAER ¢ Alsct A RAlARL s [AlHenl Fedlai AAA9AUA 52 69 At UAALR 58 &,

6.+l R 628 PSALHL s QU

. Answer the, following questions in one-two sentences.

@ sila AR 22d g ? uHaAal.

Gri: UYL AAHL gal AL Sl d S sd sl 3ERAL e A12 AL [A[AY e0MiAL SIMIHL uei2
9. SIMIHL ViIRLS, g5l QA dlsaldl SR Hee3u Al 9. siHL vilLsHL se dldL alsd Ysd
sl UlBulA sily A 58 9.

@ datuld uut 538 ? 55 dd ?

Brr: wl, AUl Wldil ARt M2 A 52 9. Al AldtaRiHil 25U & 9 21, 516l JULSALSS GLeIR
s1e €9, adufaHl 835 Gl AU sl AU A9 AF O A slold JASRUSE GLEIR 518 9.
Au[AHl UBlEH gL 25U 29 s10{ 1S3l Aecloed]l Ay 9.

ASH - 6 AYAHI UAal



7. DR UsHIAL AL YEIUR QUi
. Write answer in detail to the following questions.
(1) AqR $ud 5 SA1-AAr oUe ¥ (hot) Wiellell Agianedl 5 :wella scull 2ugm vt 69, w2 ?

BT AMIR SARA BRI UYL VNS MU 53 O AR 2G5t vyl eet Al Alses iR Gurt A 9,
clses RS AUYAUL 21581 A2l 2y viALS a9, 214 wiellell et AzalL Hifde s3027 AR
A1y~ vl Aed HOL 9. 39 5 oM, Wikl el i M@ RARAL agA 3l el 9. uRaud
ALY 2AUSA% aY HeUHE 1oL 9. %l dlses iR Ayl wal siofq isASs i Wl 3uidr
214 69, wReuH gl dlses iR e Adl Ayl Vel Asd 1A ©.

() R Gl 2ud QIR taURAL 204 8, A HIE ? g L1OUAL AUURIA HEEY i €97

Brik: 2R Gl 2Ud AU UL HAAL UHIRML 8 69 AL $5AIA %32 Ydl [Sux aly Hordl 4l ¥+
SIRCL VUL 6L Vllddl @Ol 9. 6RUAUL ALl 5181 AU gIRL AR HIPUHL AUSRASAYSA el
S5AHL UA €9 i 55U R 3R yel a1 9. -l 20udl Gl 5 >unnsdl Ralauisl
o1 el Al 9l 22l IR GlEL A AR 6L 241 9.

(3) A uAM AU (respiration) 58 Jd A 97 d AneAdl.
del : del Al ol ol il (gl 8ud 9. ¥ d UAAg 58 9. ddlAffud we del Al oy
QA 9. % AL 58 9. del UAALDG e AAAA] glRL HAA 53 9.

Ry 2 ARG AL glRL A 52 9. R L ofl-{l 2 Alsell Sy . el Ayl axidl
A0l YR A AF 9. UM AARY, AL gIRL HAUA 52 9.

el MLeoelld A L RlAR 9. BA B olelR drs AlsOdl @Al 9. Bal Hidla wielui
AL HLUSA%A ZIAHL Al Hes 52 69,

dd ¢ Wl ARl (breathing)<{l [BuL uuxdl.

anasl @ usloll wllResHl elied, Y usir-l <oll, gooil, 2e12ell2, 6l adl
ugial :

2u4ld :

) vl

<+ oee >

T~

1R
e

el : 7 2491 : 1 [Gstiel MASTER 9



ugld

o 5 ugiull wilResHl olled dl. dd dloy sidl il

o "Y" sl Aull @l. olledrl aiseumi sig] wisl Al <ol amiofl R A as.

o -ull-l vicell 93l UR sAlddl L €l ddl o0l Avil. uglani ealan Yoo oliequidl ol yuR s
i olled A ot $3.

o ofledril (1AL viedl dlfl ur uldull 26129012 eitl. e Rezllen Al ds Vil 2 ool il

o d 203lerd GUR u5El Vi §0UI, AAdLSH 53U

SEIPLE

o 2032 1Al A5 viAdL $oUBHL A © A 01312 BUR dS £otlddl 0LV ASIAA 9.

[Rlu

o A Aol [Bar el Gerued <l drs v © A $sUL §A ©9. B9l (Bar eMaun
BRUEUE GUR d5 UL AU 9 el 351 ASIAU ©.

D sunsAS)

A2 2l vud) orout yai.
Fill in the blanks given below.

(1) B9 e winull>ll RS AU 6.

(2) el RMAML Yedadsdl culsaul 218 [MlReul au-e: Sl .

(3) U8 gIRL A A9V ¢Sl

NIDETRERI TR CTERCITR
Write the answer of the following questions.
(1) 2uuRl Gegauy eRUA g t8I1R 51811 1A ?

(2) AR A 22d g ?

(3) R guavll san 2l a2 R awdar ¢ls w we wud ¢ ?

ASH - 6 AYAHI UAal



ugRiA via Mese

) 2 suglani wu-Rga .

A

dAHIRL URARAL AL 5 dHIRL Folldl e Hiud $30.

dHIl auousl iUl sisARyuHl qausid dl i gel gl Hedlild sadis s3U.
51 dlsex-dl Heedl el 5 yuui-el 9 o dsui A 9.

el Heedll el 5 s A 2ed g !

SH &l v

9

-~
X

BI1e1c2ell [AIEl Ac2icle] @iRiei/5elet] AEMH HoTy 2yt2 s3] 2US €9,

V2S-AHVRS l2fel d2lel] dSidd 214y IS €9.

el %l 2Ayalel] 2iRieniend]e] aeler s2] 215 €.

AW N |~

Uldiel] 2A12yi14ief] con 2Hicd] c/egoﬁ Byao s2) eée/)e{;)ug' [aiyfor s2 8.

iRl : ‘ Ri2isqil A€l : ’

\ .
CRIEUND » 272/ ulBaizen 2102)) 8 izl A3l 2zicigRe] Hiye S2).
» a#12] u0el] 2ArRiuiRicl ASAIReHeA] Haisia d) e GEl wEl Higdlef
2ddlsa s2).% sld slseadl] Heeell vel) s gauiere]] -9 as2iier a2l &.

el : 7 2491 : 1 [Astiel MASTER (6D



el yu=eiun-1

HSA sdgiel Guz—-1
[Model Question Paper-1]

AHY @ 3 SAS URUASH ¢ 2isH 1 4l 6 211wl &4 9% : 80

yorRlddeidail 154 sl - 1 Hie a2l Aol ad wvaio aval.

W 1.(A) WA uadlAlL gae WS dey [asey yaie 30 dl s1 | Hi avil. (05)

(Select the appropriate option for answering the following questions
and write the correct order in the box.)

M) atufd ddiaamiE seisEisnss ay Yeud ... audd. [ |
(A) 4o (B) U513 (C) ywil (D) vl
@) &4 (milk)Hidl el (curd) vian w2 AlA-unidl sy w2 © ? - C]
(i) UaSlHiel e g oA 9. (i) 39 sledly €.
(iii) Qe Gledld, £9. (v) U Bazldl asty ddl 3351 L.
(A) (i) A (ii) B) (i) 27 (iii)
(€) (i), (iii) 27 (iv) (D) () 2 (iv)
@3)  alensi vzt vt (leg)il GudloL.... - C]
(A) Sd-Adr HI2 Ay 9. (B) HIoL VURLS Usidl Y 9.
(C) VlRLS Us3al i edrAA $cl HI2 Y 69,
(D) Ayl »u-A 591 24 69,
@ arufd R sie uidi-l wikls (food) 2d eiid € ? B C]
(A) v (B) Hu-dl (C) usll (D) Qo
G) A 248 viAs U Al 9. duidl su-sa vies ual3 e - C]
aidll, sl 321 (colour) gl ?
(A) oUsdL ol2al s g5l (B) Ollsdl 622l v 63
(C) g5l i s (D) 63 2 A, dd
B) slauidl aiou [Aseu vrig 30 vucloroun yal. (05)
(Fill in the blank by selecting the appropriate option from the brackets.)
(1)  29RL 24 351 (frog)<ll A48l Sld 69,
(Dl 244 ), YA 24 e dl)
) ueiHi -l »u-d A Heedll Wy B, (s, sdiisla)
(3)  GRAeued 9idlAl el Gl A4 €l 8. (Bur-, )
@) asafy glRl oL Al IUEU% A9 8. (ya, usis)
(5) GugalMul Ay olelR lsi ©. (5, sl s1sRNS3)
(1) D3 VilRs—oia—an ui adllsw 53, (02)

(Sort by appropriate group. )
(floy, dian-dl A3, wig, {1, edl, A, >und, 919




(€2) A ‘Mlds 5812 x4 AAS 551740 Aollsu 53,
(Sort by appropriate group.) (02)
(usrai=dug, wellui wis siandl, siaxd anag, e oand,
AYEARUHA 2531A ANA udl ei-nad), vius yad)

(D) ALY A5 AL (Match the following.) (05)
G2
(1) sdRlBa — (A) @Al
() udalwt  — (B) Ul (heterotroph)
(3) »HA4  — (©) snauel
@ wwll — (D) el (leaf)
(5) slemall  — (B) wdl
E) A 2udal [Qadl M V) wri $ X vieidl [Raudl s3. (05)

(Mark "' the correct statements and cross 'X' incorrect statements.)
()G9l gl stofr slsAuSsd uaweL Rl samil stof- AsSs

Sl AU U 9. -

(2)  GwiHedles (poor conductor) UsldHi G »3uell det wy . -

(3)  B3SIHL AL 2 55U ol gLl AUABUL A 9. -

(4) 918 L AR 9 ? -

(5) A (algae) ¥ UMl €9, -
W. 2 (A) A USHiAL 215 WSAHT TN Q. 07

(Write the answer in one sentence to the following questions.)

(1) $UR ucE2 2 dlvis (Mg (mix) 4O 4l 390 20U 9 7

(2) ulMs »ed g ?

(3) Ggau-l el llsupd uHLL Seal esl €l a5 7

(4) oLl GuAldLL L.

(5) Secl yusl sul-5uL © 7

(6) G-l Hedlss ueldl sul-suL 9 ?

(7) S8 Ucdgl 5 uRlal dd aduld U2 R AL 9 ?

)

(B) Al carvul 241Ul (Give the following definition.) (05)
(1) GMHLAL Adles (2) RS HUAA
(3) AP 4) aul
(5) WS
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A PART-C-S.0._4

U, 3 (A) A UAL dslad-l 6l - 6l YEIAL Quil.

(B)

(Write two points difference between the following.)

(1) GWIAL Yales — GWHIAL Healss
2) Hdawdl — uudl

A2l Ul 6 - AR ALSUHD Bl Quil.
(Answer the, following questions in two-three sentences.)

(1) AAAMS 33512 12d g 7 Geleel L.

2) axulami adl usiarisave-dl ulsaid als qull a-dl flue asudl.

(3) vlRLs (food)l SUAUL 545 L o1 & ?
4) A4l ¢ el (curd)d Mg 2 AAUBS 3512 ©.
(5) o5 wadul deflsvuql ol Gelewl Al AMedl.

PART - D - L.Q.

U, 4 (A) A UL HERIR AL Quil.

(B)

©

(Write a detail answer to the following questions.)

(1) &s-in avil : ‘S (2usla uled asl s21.)

(2) AL VRS dls Gualol sl UL Adl wAABUL AHAdl.
(3) dedlsedl Uldul Gelsel Aldd AHAAlL.

(4) ADAHL A 59 Jd WA 9 7y,

Asuls 19 2l AxAal. (explain the scientific reason.)

(1) 24l (heat)dl otudl A2l udldl 9d otiadl ASst, s128L 3. .
2) Galandl viRls (food) 2ARI2LAL AS A&l, s138L 5. ..

(3) 2€UE (test) URMAL M2 dHIH Yelall ALvial A2 A&l s1Rel 5. ..

25l 2 ualorg aeld s (I d i)
(Describe the diagram co-experiment (any one)
(1) 32cls velal »3ul dl secls el dla-dlH 214 21 6, d AHwd,.

(2) UG glavl 2R, A9 i &R © d AlGd 5.

(04)

(10)

(16)

(09)

(05)




